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structions for Candidates
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4 — History of India (1707-1950)
B.A. (Prog.)/ CBCS

Maximum Marks : 75

. Write your Roll No. on the top immediately on receipt of

. this question paper.

. Attempt any five questions.

i & forg

forfaw |

. All questions carry equal marks.

el dier wel & Ik SRE |
Wl W ® o e g

WW—WEETW et ar & fordt war s 3 Sife, Sfee aeh
I & ek v | B =iy |

Answers may be written either in English or Hindi: but the
same medium should be used throughout the paper.
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2

1. Was the Eighteenth century in India a period of continui 4

rather than change ?

ﬂzmwa&gﬂ%%ﬂ?u%mﬁﬂmﬂﬁﬁﬂﬁw

f

2. How did the British establish their power in the Eighteen'd;

century in Bengal ?

s&i&w%ﬂw@mswimﬂ_wﬂﬁﬂmﬁﬁm%ﬁ

4.

7.

Examine the main features of the Land Revenue settlemer 1

introduced by the British and discuss their impact on tizd

structure of the rural economy.
%%%%%ﬂ;ﬂﬁ%%%ﬂ.ﬂ%ﬂ%#
e S qAr T SeEEE W IgH WA &6 Eﬁ\m
SHitorg |

Assess the responsibility of Dalhousie in hastening the ever

of 1857.

| mw.
amqmwﬁu@mww%@m&mﬂwmmﬂ%%@v@%&m
AT SN |

|

40,

Discuss the various factors that ruined Indian handicra’

and industry in the nineteenth century.

9082

6.

3

37w B T AR R 0 TR ¥ ez
o IO H wEie far

Discuss the features of some of the main Socio-Religious
Reform Movements of 19th century.

Il TS S HD WA AT - tifE guR seee @

What were the main differences between the Moderates and
the Extremists ? How far did the Extremists succeed ?

SereEE SR STl ¥ g SR @ ¥ 7 Iuard) e v 9w
T §Y 7

‘E..moa the development of Non-Cooperation and Civil
Disobedience Movement.

Was the partition of India inevitable ? Elucidate

T RGN s w7 Reee S

Write notes on any two of the following :

(a) Battle of Plassey, 1757

P.T.O.
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(b) Subsidiary Alliance System

(c) Rowlatt Act

(d) Constituent Assembly, 1946
frffed ¥ ¥ e @ W e ot -
(ar) el & &, 1757

(@) wEEE G Tl

(@) qeie el

(z) R €, 1946

[This question paper contains 4 printed pages.]
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nstructions for Candidates
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_ this question paper.

Attempt any five questions.
All questions carry equal marks.

Answers may be written either in English or Hindi; bat the
same medium should be used throughout the paper.
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1. How the different interpretations of historians have changed
our understanding of the Eighteenth century ?

FemeRl & Rt =t & e ywr 189 T & =n
TN FY TEo B 7

2.  What were the causes and consequences of the battle of
Buxar in 1764 ?

1764 ¥ TR F TEE D T FROT IR qRmA X 7

3. Discuss the salient features of permanent settlement in
Bengal. What was its effect on rural Bengal ?

T ¥ T T A g At @ qoi 9w | aeitr s
R ST T THET 9T 7

4. Discuss the causes of popular discontent against British
rule in the first half of the 19" century. To what extent
was the revolt of 1857 result of this discqontent ?

1961 TS & qEie | Wiy e % Raeme B o e @i
aﬁa&%qnammﬁﬁaﬁmaamwmﬁulrwmm?

5. In what way did the later half of the 19™ century provide H

a congenial atmosphere for the spread of Socio-Religious '
Reform Movement ?
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(b) Maharaja Ranjit Singh
(c) Swadeshi Movement
(d) Cabinet Mission, 1946
fafeReg o @ vl @ W Rufter feraw
(31) TS T WEA W
(¥) wereT weld &E
() ot AT

(z) =fide fm, 1946
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- Name of the course  ; B.A (Prog) CBCS

Name of the Paper SEEC-Psychology : Managing Stress
Paper code 162116903

Time: 3 hours Maximum Marks: 75

(Write your Roll No immediately on receipt of this question paper)
XTI K T 9 i 39 Ol for)

Note: Answers may be written either in English or Hindi; but the same medium should be
used throughout the paper.

AT 3 AT Ay TeeT 1 off forr o werar 2. AfveT Ush 81 HIEAF &I SEAAT faar Serm arfey

/

Altempt all questions

:
|

Y UAT F Jeaw &
| Discuss the nature of Stress. What are the different types ol stress (15)

T A I X w B A v & qere @

ar
How does stress impact physical and psychological health of an individual .(15)

fenady wﬁaa:ammmnﬁﬁaammww 8 garfad aar |

2 People react differently to the same stressful situation. Discuss. (15)

A& & e & WU e aw @ yfafsram s & =t &%)
or
Discuss the different sources of stress in detail. (13)

| erﬁmaaﬁﬁmma?w%mwﬁﬁ‘raﬁh
3 Discuss the basic difference between distress
perienced.(15)

and Eustress that you haye

mw%%mmmamammwww
or

) What is stress management. How does meditation helps in coping with stress.(5.10)
Olld YU T R eum R qemg @ gy 4 AgT wear ¥



4 Discuss emotional-focused coping and
stress.(7.5+7.5)

HTleadh-hiad FFNEHT 3R Torewr o eam e FFNAT 7 Hr 7t vy
or

What do you understand by Relaxation techniques? Discuss, How are they helpful in managing
stress?(5,10)

gcii] mmﬁwmﬁaﬁﬁ-ﬁm%uﬁmﬁamm%

5 _ Write short notes oh any two of the following: (7.5+7.5)
%ﬁﬁﬁ%ﬁéﬁﬁﬁﬂgaﬁ?ﬁﬁm
A) Role of cognitive appraisal in stress.
T 3 A Fedieha &1 syfe
B) Yoga\and Music as a management technique

S| CIC 1 i i = ol ddalleh & &g
C) Religion as a coping strategy.

mfrnaﬂﬁram WA & §7 &

D) Occupational stress

AHYIRF g

problem focused coping mechanism to deal w
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(This Question Paper contains 2 printed pages)
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MTGBT ITHAID .oooeeeeeeereeaernnnnn.
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T : 3 e quries : 75

(Write your Roll No. on the top immediately on receipt of this question paper)
(& W -9 & Tierd 8t Sur e v FuiRa T v= smar sigpaie ferfRav )

Note:  Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.

T WY T Sar Sl o7 fEet foredt v v o difor fhr wndt soel @ "eEw ves
& BT 9Tfdu]

Attempt any four questions.
All questions carry equal marks.

Tl 9 uea) & Iae e
ft yeAt & b TurE

1. What is Public Opinion? Discuss its role in a democratic political system.

ST FIT 87 SA\bei2es TrsTiferes @raear ¥ geet Hffewr @t [fde=m i

2. Discuss the evolution of Public Opinion as a sub-discipline wiih specific reference to
Behaviouralism.
U U-Fawer & w0 & SHT D i FerT & @ggrae & [{ew gof ¥ e
Eiisid

What is sampling? Discuss the various ways of collecting a sample?

wiereet @aferm) @R 27 ufteet @wfenn) wiue @ R a9tet @t e #1Rn

(2

P.T.O




. How does a sampling error happen? Explain with appropriate examples.

ufieel @wferm) # Ffe per UpR Bidl 87 Iuerd IaTEL0N B T IRAT BT |

. What are the characteristics of a good questionnaire? How do the wordings of questions
affect the survey research method?

Uh 3t yoAEet ®t I Aeyae 872 weAl ot vemfer & Tdger iy ugla e
TR T9TEd Biar 87

. What is quantitative data analysis? What are the various ways of representation of

quantitative data?
TRANTHES NpsT fAvaun w=m 8?7 uRavnes snest © ufafHfta « (it ade

Fr—a &7 N

. Describe the various approaches to the study of voting behavior.

e FagRk ® JEIF @ = Surml &1 9oia wife|

. Write short notes on any two of the following:
FreferRaa # | el & w Aftra Ruvft ferfae:

a) Straw polls
A qied
b) Challenges of forecasting elections in India
wRA ¥ gAE] @ qaiar o gAfaar
¢) Non-random sampling
AiT—2veH ufdqet @wafer)
d) Doorstep Opinion
SRRy A=

(3500)
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1.

(d) Answer may be written either in English
or in Hindi, but the same medium should

be used throughout the paper.

= 99F-US @ IO} SiUsht o R W #
3ifSa, Afpe Tl I T AreAH wH B BT
=e |

Write short note on any two :
el &1 ¥ wfera feuof g -
(a) Shifts in LM curve
LM @z d Raussa
(b) Aggregate demand shock
TET AT R
(c) Cost push inflation
AR ST T

(d) Methods to correct disequilibrium in
balance of payment

I ged H TG B WEl B [

What is product market equilibrium ? Derive /

IS curve. What does the slope of IS curve
indicate ?

m«w%ﬁ@ﬂﬂﬁwﬂamﬂ&%ﬂﬂ_

IS a6 a5 oTd &l SR el © °

9074

"A change in monetary of fiscal policy shift the

aggregate demand curve". Explain.

“ffge Srerar TSEhisE i § geeng amfes AT
T & ETehdl B 17 ST HY

What is nature of the short run aggregate
supply curve (SRAS) ? Explain the extreme
shapes of SRAS curve.

SHEIHAT T GfT a (SRAS) FI Ty 7 & 7
SRAS @p @l =9 STEfEl @1 avis &% |

Explain how recessionary and inflationary gap
is eliminated through discretionary

stabilization policy.

feepredis Rafteszer ify amr 5d oo [EIGEAE
ST BB W) g3 e omar §? e
FHIfeTT | >

Explain Phillips curve. Distinguish between

short run and long rum Phillips curve.

W@qmﬂ%ﬂﬁﬂ_aﬂﬁ%ﬂﬁﬁmﬁ%ﬂ

_@@qﬂawﬁﬁ,ﬁﬁﬂﬁ_

3 P.T.O.
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7. What is natural rate of unemployment and wait
unemployment ? How does wage rigidity give
rise to wait unemployment in an economy ?

AT BT Wrepiered & oF e SO &=
2 ? uxp ordfaaer ¥ Heigd gedr R g@R
gferTRa SASHIA &l Sgm@r adt & °

8. How are exchange rates determined ? What are
the reasons for exchange rate fluctuation ?

e a3 @ MaRor R R @ 21 R
& H IA) Ged B F-F BRI 7

4 1800
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Your Roll No. § sovaseurenennanensniibiie
Sl. No. of Q. Paper : 9073 GC
Unique Paper Code : 62274403

'Name of the Course  : B.A.(Prog.) CBCS
Part-II |

Name of the Paper : Principles of
Macroeconomics-II

Semester : IV
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipf of this question paper.

= g U 3 fEd & SI Ru e iR
T U ST ek [AIRe |

(b) Attempt five question in all. First question
is compulsory.

dfg uesst & o} S guw gee Steard
B
(c) All questions carry equal marks.

et Ut & of T T
P.T.O.
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(c) Answer may be written either in English
or in Hindi, but the same medium should

be used throughout the paper.

= 9-OF @ IO} s a1 R o AW
¥ A, afe o Sad @ AT 6 o
AT =R |

1. Write short note on any two :
Bpst & ox Ot feelt &Y
(a) Shifts in IS curve
IS T H Rgues |
(b) Aggregate supply shock
e g e |
(c) Demand pull inflation
/AT ST EHI |
(d) Difference between balance of -payment
and balance to trade
A WgAT T S A9 H TR
2. What is money market equilibrium ? Derive
the LM curve. What does its slope indicate ?
TR TR H GgEd T & 7 LM 9 B A
F¥ | SO ST T SO B 8 7 .
2

9073

_Gmmbm IS-LM model, derive the aggregate
demand curve.

IS-LM HIe® & ST 210 S99 A @ B gy

,ﬂ_

What is GDP gap ? How does it induce a change
in input prices ?
St.Et.dl. oraua = ¥ 7 |

1 ¢ U8 S HEa H
aRed @ A ARG FHear T 7

Eoé ao.mmn& and monetary policy help in
eliminating the effects of demand shocked and
supply shocks ? |

admﬁ%ﬁmmmﬁwmmnﬂ%%mﬁﬁww

ﬁ%&ﬂﬁ&ﬁﬁ&ﬂwﬂﬂﬁﬂmﬂ%wﬂ

s. LT . "
i hat .am inflation ? What are its main causes ?
xplain the social cost of inflation.

- T o ¥ ? 0 v er e @ 7

wﬂ%&@ﬂ@ﬂﬂﬂm%ﬂg%ﬁ

What ; i
hat is Philips curve What are its policy

implicationg ?

Mot a5 o & 7

B 9% e Hiftre e

3 BT,
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8. Explain the Relative version of Purchasing
power parity theory of exchange rate
determination. How does monetary policy of a
country affect its exchange rate ?

e X Ml it wa g s e @
AR ThI0T 31 HRAT HY | TF 29T FI ANEH
Hifer Ia fafFmg & o 39 g9ifRa s B 7

4 4500
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r. No. of Question Paper : 9424 GC

Jnique Paper Code : 12105401

{ame of the Paper . Bioethics

Iiamc of the Course : B.A. (Hons) CBCS, General
Elective

gemestcr IV

Juration : 3 hours Maximum Marks : 75

structions for Candidates
t Write your Roll No. on the top immediately on receipt of

this question paper.

. Attempt five\ questions in all.
It’s compulsory to attempt one question from each section.

. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

All questions carry equal marks.

= @ forg fda

- @ e e g g R e e S i R |
fal dfer weel & I AT |
TF @S ¥ 1 W AHa 2
T V-9 & IR Fdon a1 B ferdt ven s A Aifsie - wifeh |/
ITRI I AL U & BT A6Y |
Wl Ul & A T B P.TO.



2.

Section A (Ws )

What is Bioethics ? How is it different from ethjg
}

(I

Discuss.

@%ﬁﬂﬂwwﬁw@-ﬂﬁw%@@ﬂwwﬂzﬂ%

OR (3reran)

Is it harmful or beneficial to help a patient who |

requested a hastened death. Discuss with reference to

principle of benefit and harm.

ﬂﬁﬁ%ﬂ%ﬁm%%@aﬂmﬁ%ﬂﬂﬂﬂmﬁwﬂ
%ﬂdﬁ%ﬂ?%ww%%%%@ﬂ%%ﬁﬁwﬂ

I |

Section B (W &)

Explain the concept of

euthanasia.

%%ﬁ&waﬂ@%%%%.

OR (3teran)
Discuss in detail the concept of confidentiality. When
a breach of confidentiality occur ?

e W SR RGeS B |

consent with reference

Section C (Wg )

Discuss the importance of justice, equality and equity in
public health care system. (15)
AT e -G YUl ¥ S, 99 3R S g 8

g W ARl iy |
OR (37erar)

What is global health ethics ? Which set of values does it

aim at promoting and why ? Discuss.

aftas @ Afvwd w2 P T W BT T I hm

Section D (@WT %)

Do .
we have a moral obligation to look after the

environment ? Dj i
: nt 7 Discuss with reference to Peter Singer
article “environment” -
(15)

Maﬁ_ﬂsﬁwﬁxﬂ%wﬁmﬁﬂwﬁmﬁg%mm
ﬂ?ﬁ:%mﬁwﬂzﬂmﬁ_w_ﬂ:

OR (3rerar)

Balul
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R

he main concern of public health ethics. Whiat,

oes it achieve them 7

=) e Y | T 3

Discuss t
its goals and how d

gﬁmﬂ%n@%%mﬂi

ﬁw%ﬂ%@uﬂwﬁmﬂﬁwﬂ

Section E (@S ¥)

Write an essay on any one of the following:

(a) Euthanasia

(b) Value of life

(c) Non discrimination and non stigmatisation

- SgwE 3R 37— TG

[This question paper contains 6 printed pages.]
ges.
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Instructions for Candidates
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. t Y i
this question paper. p immediately on receipt of
)
!, Answer all questions. .
3. Unless y
other : .
il n:rnwwmomﬁac:.@a In a question answers should b
same medium n Sanskrit or in Hindi or in English, b W
should be used throughout the wmnnw ut the
T3l @ forg e

w&.ﬂmﬂ.lﬂm—w.@ﬁ@%
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wﬂﬁ# e cnemo Mg g s ;
1 1 ARG ehllotg ;- (5

Translate the following verses -

9245 3

HAAAT / Oy

@%mﬂmuﬁwﬂﬂﬂwﬁwﬂ%@ﬁﬂﬂih

A%Vﬂﬁnﬂ@%ﬂm%nﬂyﬂﬁ%%_ |
e

B @ e @Ay FEREe R wen <6

g oy

LAY AWSST Fed:

i (®) = R - s sedwanfad =y |

o1 Y e A R A e | T T et fag: 1

qrffasi vEe e Tl o’ e 1! 31raT / Or
(@) ‘grensseTRaEd’ e - T SRR | oS ~ ferararst o s e
¥ - TR, :
P, ToRERT WA aetel HEE 5 .ﬁ@m@ﬁﬁﬁqﬁﬂﬂﬁﬂ;.%:
Far / Or ([T
LS # ElLG ﬁﬂ%ﬂu.ﬂﬂw 7 | A
i iR 8
A T S Discuss  tpe Hu :
3 “Switant man  values gg described i
.Eﬁ%ﬁ. RREIERE . \ ﬂw... ﬂ.m‘_.mﬂ E] rwmm.m.m__ SN Hv\mmbsgmurmfmmd... - 1N
: HAGT / O
o fyefaRas w &) e wi -
Explain the following verses i— A Afoty AT S ——
Enlightey the Socig] TRTE 2Iferw
xc oc_ - G g Cial] C .
G Frefeieg fSeeme. | Bhimayanap,: Epic Onsciousness as depicted ip
Y iR AEETER Q0 TR A
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4. 'TUEE’ HAT FH OGNE FUA el A forlaw | (5)

Write briefly the story of Shatparvika in your own words.

-y
_
@i / Or |
8.
i wu ¥ s - @ e Wy R _
Write the importance of ‘Girls Education’ as expressed in
the story of Shatparvika. .

5. WEwwehed ¥ affa G witm:’ gl @ adfen #ifw |

Analyze the line ‘Power in Association’ as discussed in
¥

oy —
-

Sardalsakatam.
YAt / Or
o 4
WEAAEHCH H ACHT FHAEE H TR F |
Analyze the Dramatic plot of wwamam_@ﬂma.
HITHYTATT WA 3T aivsd aedenel el ot sfdamsy ¥ aft
Y w1 e wif | (10)
Analyze the contemporary consciousness as depicted in the
poems of Bhatta Mathuranath Shastri or Pt. Bachchula]l * A

Awasthi.

7.

Amv Q.

19245 5

e et e e o wer W (o)

Give a review of either ‘Katmi kavita’ or ‘Sankalpgitily’.

IR WepT - AR W WE TS 1 WA W i |
(10)

Present a survey of important writings of Modern Sanskrit

Literature.

PR ¥ ¥ TR AR ) et i (4xa=16)
Write short notes on any four of the followings :
(=) sRew R @nim
Haridash Siddhant Vagisha
() e} HOEReel AR
Mulshankar Maniklal Yagyik
(1) T e
Mahaling Shastri
() lemE e

Lilaroa Dayal

] ool I 5 8
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Vatindra Vimal Chaudhuri

(=) e AR STECr

Virendra Kumar Bhattacharya

his question paper contains 4+2 printed pages]

¢ 43 Roll No. | | _ “ _ _!_

.ZQ. of Question Paper : 9279

rique Paper Code : 12273403 G

me of the wm_.nma . Contemporary Economic Issues (Skill
| Enhancement Course)

me of the Course :  B.A. (Hons.) Economics CBCS (SEEC)

nester . \'4

-ation : 3 Hours Maximum Marks : 75

ite vour Roll No. on the top immediately on receipt of this question paper.)

ﬂu-ﬂ%?ﬂm%ﬂﬂmdﬁwﬁmm%ﬂﬁjamﬂﬂﬂ, i fafeg

? i— Answers may be written either in English or in Hindi:
but the . same medium wro:E be used throughout the
paper.

roft uiwﬁﬁlﬂﬂgﬁjﬂwﬂﬁﬁ T
F dif; %ﬂﬂ&ﬁ@iﬂﬁﬁ@uuﬂjﬂ
=few |

The question Paper has rwo Sections.

Both questions in Section | are compulsory.

A :
nswer any fous questions from Section |].

ﬁﬁﬂmwmwﬁd
w&&ﬁu&gm
ﬁwﬂd.umﬂ I

R

PTO
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( 2 §° 9279

Section I : Answer questions 1 and 2

A%P&iﬁmﬁ%ﬁ_ﬂw

Briefly explain any (wo of the following concepts

m&. “"Plan expenditure and Non-plan expenditure

(h) “Budget at a glance” document

n

(¢) Role of FRBM Act.
Wﬂ@@aﬁmm@%m@i&ﬁﬁmﬂ%

(a1) frafs@ =14 g Ix-frifsm =3
(7) “um T F e TEEd
(@) FRBM 3THFEH T offeRTL.

The following Balance of Payments dat@ for the Indian

economy for the years 2011-12 and 2012-13 are provided (all

figures - in billions of US $). ;

ftem 2011-12 2012-13

Exports 3098 3006

Trade Balance -189.8 —~1037

Cuirent Account Balance 782 8.2

Errors and Omissions . 24 2
128

Reserve Change

(a)

)

What was  the T
RIS PIRE (
- 3 ) 8 1 IARE
Comitissicn o s o
e ooyt i "
. - by TR o
balance. o
HeEd EE O AETT F sy _
O9F e S0 erf
AR Iy O

T FER WG sy w i
. e & AT w §EES  HirET )
Criticall / . N
y m:mde :ﬁ fiscal cmﬂmo::m:om of India since 200
e 0.

>Hmo ,o._mn
mmm En Smn_::: 833 qum_smsé; t
0

sustainability.
10,5

¥

m@uooo@ﬁdmw
,_Voﬁmﬂnm.mfmﬂ
%.%diﬂnmm

ﬁgﬁwﬂﬂﬂﬂ%ﬂ_

Write s]
hort
notes  en m:u\ two of the following
Wmnma W o
TO :moo:mso:m ::QQ. N

=l airobi Package’ and
Sv__nm:o:m for _:Qm

M 3

S PTO.

Smrzm:.: fiscal



8.

¢
Providing accessible, affordable and equitable quality health

care is one of the key objectives of the Government of Indija.

In this context, review the performance of health care services,

across the various states- of India. - | 15

:Hﬂ:ﬁaﬁwm@r ﬁa‘q WW-—-@ET

%!sﬁmﬁ

:-;Eraw FIAT wrter_ THR 1 {r,@r

E‘Fﬁ&ﬂ ﬁﬁw



P & 3 0279

(1 Caleulate Imports and Invisibles o Current Account for
both financial  years.

(i Caleulate Overall Balance and capital Account Balance
for both years.

(iry Discuss the relationship between overall balance and
reserve change as a part of BOP Account. 332

0112 T 201213 & 9RAT AT & T

A ® e 30 WFER T (I s us fafee

T H E)I
"o 2001-12 2012-13

ERIG 3098 306.6

T A 189.8 1957

i e e ~78.2 882
i T A 2.4 27
i v 128 54

) EA AW A P e Haed us e Hger
E-T ORI “1: e [,]_|
jop Bk EUE & =T § HYM qed us

G R E e G e A | ==t o B~ i = e



s

Section Il : Answer any Jour questions.

Al questions carry equal marks.
aus 1o fEE 4 weAt @ sww difem

At uvAl & WA 3 ¥
Compare the present system of taxation of Goods and Services
in India with the proposed system of Goods and Services
Tax (GST). Do you think the proposed GST addresses the
existing issues adequately ? 15
WRA H SHE AR UE T H oA SR gt
X U WAl H (GST) AL H qOF Hifw
a9 GeEd ¥ R wwmfa osT v W@ s qatw
®Y H HAfHG war o
Discuss the first-mile, middle-mile and last-mile is.sues in JAM.
Explain the JAM preparedness index and show how it can
help policymakers. 510
JAMﬁumﬁa.nmﬁaqa‘aﬁnTﬂatﬁi
F FUA HINUI JAM TERAT GIHF  H om0

FT THAl B 7
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Roll No.
8. No. of Question Paper : 9192
Unique Paper Code : 12271403 GC
Name of the Papér - Introductory Econometrics
Name of the Coulrse : B.A. (Honours) Economics—CBCS Part-11
Semester IV
Duration : 3 Hours Maximum Marks: 75

(Write your Roll No. on the top -immediate{y on receipt of this question paper.)
(38 W¥A-vA & fierd & S g o fwifa w@m o s s fafan @)

Note ' Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

feomlt « s ww-u w1 I ST A R fee ww wmn A Afwe SfE i s
®1 HWEW TH e Aifer |

The question paper consists of seven questions.
| Attempt any five questions.
Each question carries 15 marks.
Use of simple non-programmable calculator is aliowed.
Statistical tables are attached for your reference.
TYA-TF G WA H §
fdl o ufar v @ ww AR
YAF T 15 Ik dEd Fl B
wa dum deEEe § I ® sh oS §
Ao wed & fau wifem dad uwe-um & o § @ mR § oo

P.T.O.



(2) | 9192
State whether the following statements are true or false.

Give reasons for your

answer

(@) The adjusted R? is always less than the unadjusted RZ.

(b} The OLS estimators are best linear unbiased estimators (BLUE) in the presence of

heteroscedasticity.

(¢} All points of the sample cannot lie above the estimated least squares sample regression

line :

() A regression model with a high R? may not be judged to be good if one or more

coefficients have the wrong sign.
(¢)  The smaller the p-value! the more contraq.ictory is the data to Hy. - 5x3=15
frfafem s ot § ar wom § mmﬁﬁqwﬂﬁq
(%) TorEfsd R”%ﬂwm@ﬁmmﬁmﬁm% !

(@) Tagsfefyd (Heteroscedasticity) 1 feafd # af.uarum, (OLS) 3ehere
TIH As Yew ol freaw BLUR) &

(D) = & wsfl fag st AT AIEA  (Jeast équares) AT

‘}f = bi ¥ 'blef

4 IW & 8 why ¥
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(ﬂlﬁ*ﬁmszmmaﬁﬂﬁﬁaﬂmﬁmwﬁ*ﬂT
T W AYE E e wed & d

(®) -0 foe B ¥, TR1 H, W s femrd b
(a) Consider the regression model

Yi = By + ByXy; + ByXy, + u,

1

In order to check for presence of multicollinearity, the auxil‘ary regression is run and

the results are as follows :
Xy = 2456 + 07952 X,,
(s¢) = (0.56) (1.598)  R2 = 0.90.
(i) © Compute variance mﬂatlon factor (VIF). Do you find evidence of multicolline: arity 7

i) Would multicollinearity necessarily result in high standard errors of the OLS

estimators in the abové model ? 5
T nfee
Y, = B + Bz}(j + B3X3 +

Bl f—ﬂT{ Eﬁ'“‘ﬂﬂ Q@W (Multicollinearity) F el & ST

Xy = 2456 + 0.7952 X,

(se) = (0.56) (1.598) RZ = 0.90.

2
(b TR TR e (Variance inflation factor) URewfera shifsm | a=n amy
ol - (multicollinearity) &1 Hehd U 3
' Py



(b)

( 4) , ' 9192
@) W IR & Hied, qﬁmﬁﬁi‘r%m aa‘ruaw (OLS) 3Tehei-ehd]
$W3ﬁﬂimq@:a}ﬁmﬁmﬂmm ?
Let the population regression function be :
Y =By + ByX; + up
The function is esmnated using OLS and’ the res1duals, e;, are found to be heteroscedastic.
Transform the above model by applymg the weighted least squares (WLS) method

to obtain hpmoscedastlc errors under each of the following cases. Do the transformed

regressions in each case have an mtercept term :
* . . . > 2
(1) HI- = EIXI where E’ st N(O, Ks) )

@ B)=tf%. . o B

(Weighted Least Squares) fafy gmr Hﬁﬁq iR ﬁmﬁrﬁga TE W L
ma&www lwwmﬁaﬂam%@ﬁﬁ

' Cﬂaﬁﬂ? 9S (intercept tcrm) B‘Frr

O u = E;-Xr where €, ~ NGO, o?)

() E(u})= ciJX_f.



(5) ‘ 9192
' The owner of a shopping mall is considering the possibility of redesigning the parking
facility. He first wants to check' the claim that, on ave'rage, cars remain in the parking

area for 42.5 minutes. For this a random sample of 64 cars was investigated and

it was. decided'that the claim . would be aglcepted if the samr;le mean falls between
| 40.5 to 44.5 minutes. Assuming © = .7'6 minutes, calculate the probability of rejecting
' tht_e null Hypothesis when the null hypothesis is false because the true population
mean is 38.5. - | 5
‘R% vifin @ w1 i wfen gfaw gARRESE e ﬁﬁm;
Iﬁm%'nﬁw'mﬁmmm%%@mﬁm
425fnﬂz$1%rqqm fF # Wl ¥ T 64 U A TR
W#@mw Stg o T R ww frofla fem e fw
wmmmmaﬂwaosﬁﬂusﬁ:ﬁ%ﬂam I
lﬂ% Tl gL R o =76 ﬁm R Ui (Null Hypothesis) & st
..fﬁﬁw'ﬁmﬁﬁq-aa sYER URGEE e ¥, W A
3385 ¥ | | | |
(@ Data on ‘mo'nthly income (X, in Rs. ’.000). and monthly feod expenditure (Y, in
ﬁs. "000) of scvén househ‘oldjs yielded the following.inf(.)rmatio'n :

LY sy - 2imas, Y x? = 014286, Yy = 608571,

Y = 9.143, X = 30.286
' P.T.O.




(c)

( 10 ) 9192
(i-) w m ol ﬁﬁﬂ
(i) HISHA B gy Q’G‘GIT-IT ﬁ 3TTE (goodness of fit) H1 T Hew & 59
% W W Sy |
() Hfed & fau R2 Eﬁj e }Eﬁiﬂféﬁi
The regression results from the model,
Y; = By + ByX; + 4,

are obtained for a cross-section of 3l0 households, where Y js consumption
expenditures (in Rs. thousands) and X is income (in Rs. thousands) In order to
check for the presence (:;f heteroscedasticity, the obsel_'vation; are arranged in the
increasing order of the magnitude of X. The regression is run separately for first 11
(Group 1) and last. l'llobservations (Gro.up 2). T-hg regreséion results for these

two subgroups are . reported as follows (standard errors are reported in the

parentheses) :
Group b : ?i = 1.0533 + 0.876 X;

(se) = (0.616) (0.038) R2 = (.985] RSS] = 0475 x 105

Group 2 : ¥, = 3279 + 0835 X,

(3.443) . (0.096) R2 = 09585 RSS2 =.3.154 x 105

(se)

ForTe T S —
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(7))

Discuss any nwo reasons for the presence of autocorrelation.

Wﬁ:ﬂmﬂ.(Autoconelation) & Iufefa ﬁihTe?T ?:ﬁ' FRON i =l

Hify |

(i) If p is known to be 0.8, discuss how the problem of autocorrelation can be

(b) (@)

remedied using Generalized Least Squares (GLS) for the following two-variable
5

regression model,
YI = Bl + Ber + u{
where the disturbance term, u,, follows AR(1) scheme, that is,

U, = puy_, o V.
e p (V) &1 9A 08 B, A == wifvw fo Fofafas @ = g

died & W #H fRg YR @wRwa =FEen @i-%e (Generalized
| - - .
Least Squares) 1 ILATA & & H3HGY (Autocorrelation) =1 THET W

gﬁﬁlq]ém;:{aﬁﬁ%;

| |
| Y, = Bj +BsX, + u,
| ;
TRl FEARTR W 4, WA W AR(1) TSfd sl
| e
u, = pu!_I + vt

| F I F F | |
‘ P14,



(b) A three-variable regression model gave the following results :

9192

Source of Sum of Sql_lares chregs of Mean Sum of
Variation | Freedom Squares
Due to Regression 32621 —— =t

Due to Residuals == s -

Total 39472 33

(i)  Complete the table.

(if) Tcst'_the model for overéll gooﬂness of fit at 5% level of significance.

(iii) Calculate the value of R? for the model.

@aﬁ?—wﬁauﬁmm@ﬁmﬁﬁaﬁuﬁwm

Source of Sum of Squares | Degrees of ‘Mean Suml of
Vériatipn | ’ Freedom Squares
Due to Regression 32621 — —

Due to Residuals — — -

Total 39472 33

P.T.0.




(c)

( 10 )

(i) WA & Ay R® &1 qou fafem |
The regression results from the model,

are obtained for a cross-section of 30 houscholds, where Y s CUI]SUIﬂp[‘Iﬂﬁ-‘
expenditures (in Rs. thousands) and X-is income (in Rs. thousands). In order 10
check for the presence o.f heteroscedasticity, the observations are arranged in the
increasing order of the magnitude of X. The regression is run separately for firt ||
(Group 1) and last 11 observations (Group 2). The regression results for (hes

two subgroups are reported as follows (standard €rrors are reported in (e

parentheses) :
Group 1 : y, = 1.0533 + 0876 X,

(s¢) = (0.616) (0.038) R2 = (.985] RSSI = 0475 x 105

Il

Group 2 : g, 3.279 + 0.835 X;

Il

(5¢) = (3.443) (0.096) R? = 0.9585 RSS2 = 3154 x 103



( 11 ) , 9192
() Perform Goldfeld-Quandt test at 5% level of significance. State the null and alternate

. hypotheses clearly. ;'Do you find evidence of heter()scedasticit)} ?

(i) List the underlying assumptions related to the disturbance term made in the

above test. | : - ¥ 5

‘Yi=-BI +ByX; + oy

3 sh wfom fEE T s fu s SRR S 30 e
% otwd fom m ot Y WM =@ (000 %) R X (000 %)
% ] %ilﬁ@ﬁzfqz‘l (He'terbscedasticlity) W T FH w AU sEEEa @
.x%ﬁﬁmm%agﬁmﬁalamﬁmw I'Ted 11 (9 1) q@en
M H 1 (ng)mﬁaﬁ%mym—wmmamm
e qﬁmﬁ%ﬁga%(mgﬁﬁaﬁwﬁﬁﬂé%)
T Y, = 10533 + 0.876 %

(se) = (0.616) (0.038) R2 = 09851 RSSI = 0475 x 105

q9 2 : ¥, =3279 + 0835 X

(se) = (3.443) (0;_096) R? = 0.9585 RSS2 = 3.154 x 10
' . PT.O.



(@)

| () WEE B 5% B W W (Goldfeld-Quandt) THE HIFTT | 19 33 Jmfeas

(12 ) i | 919

RIECaSEIC) ﬁ e Y q AR | 91 A %aﬁeﬁzﬁqzﬁ (Heteroscéda’sticity),
-W e Wy ¥ 2 | a ) |
G) SR e § 3w @ wem o v s mme = Exl
The folloWing regression model was estirﬁated using annual ‘time-se_rie's_ data for the

period. 1990-2012 for a certain country :

Y, = b, + bylnX,, +-b3llnX-3,
where Y, = demand for gh.eese'('in kg.) |
X, = disposable income (in Rs, ’000)

X3 = price of cheese (in Rs. per l_cg.)

The results are summarized in the following table :

Coefficient - Standard error
Intercept : 203 - 5 0.116
X, 045" 0.025

X, - -0377 - ' 0.063




{4 By 9192
()  Interpret the partial slope coefficients.
(#) If the calculated F statistic for the estimated model is 492.513, what is its R2 7 5

ﬁwfﬁf@amawmmaﬂmwgomfa W fifrea 2o & fow
m%mm@am%mzmz%mmw

Y, = by + byinX,, + b3lnXg,
WY, - R H R (e )
);2=uth§1 S (000 T. ﬁj
TFﬂT ' aﬁna (“6 ‘;Tﬁf fren #)
o Frer e i %

_(Coeﬂ'llc.ien-i.). o (Stg;udarq error)
YT (Intercept) 203 | 0.116
% . eds L. 0,025
A o3 0063

(:); mwmﬁmﬁﬁq

(if) mwﬂmﬁm@ﬂmﬁmmwzm%ﬁmw

g 2 ' .
‘ : PTO.
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(h) A researcher estimated the demand function for money for an economy for.100 quarters
using quarterly data for the period Q1 : 1985-1986 to Q2 : 2010-2011. The regression

results are as follows (standard errors are mentioned in the brackets and In indicates
natural log) :

———

InM, = 26027 — 6,4024 InR, + 059 InY,
(se) = (1.24) (0.36) (0.34)
R2 =092 Du}bin-Watson d-statistic = 1.755
where M, = real cash balances
R, = long-term interest rate
Y, = aggregate real national income

Use Durbin-Watson d test to check for the presence of first order autocorrelation

at 5% level of significance. 5

T&  YiEehdl o mGﬁm%ﬁiméa(ml:wss-wssﬁﬁmé
2 : 2010-2011) mwmtﬁﬁaﬁwawémqﬁmﬁgﬂmﬁa
i e ofom @ wER ¥ (qew e wew § s @
¢ O Ty i w3

InM, = 2.6027 - 0.4024 IR, + 0.59 InY,



(c)

(15 ) 9192
(me Ffe) - (124)  (0.36) (0.34)
R2 = 002 SfdF-amm @-offes - 1755
7,
M, = 3l g @m

R, = SEaifdds =19 =X

Il

Y, = §hd daias T dE |

 Ted B 5% B T W YTY HH WAFEHEH (Autocorrelation) 1 3ufterfa

S F F fau efiF-aemr @ wlem w1 swm wifw |

For the log-inverse and lin-log functional forms given below, find the slope and elasticity

of Y with respect to X
() In(Y) = B, + By(I/X)
(i) Y =B + B, In(X). | 3

= fu M odn-faem el fomem weieas w6 o fau v # xS
RECER: M- Ll o B

() In(Y) = B, + By(1/X)

(i) Y =B, + B, In(X) |

P.T.0.
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(@) The managemeﬁt of a codkie-manufact‘m"ing q;)fnpany doc?;'s not want the variance of
‘the net weight of these céokies in a"pz_l'ck;_ to -be inoi'e than. 0.0‘15 écjuare grams.

If the variance 1s not within_ thls limit, th.e- machi_ne' used for.i)ackagjng is stoépéd

and adjusted. A rec;entlytaken randqm sqr‘pple q:_f,25 package from the production

i

line gave a variance of 0.029 square grams..

Based on this information, do you think the machine needs.'an adjustment ? Use

a 5% level of signiﬁcance. State the ﬁhderlying assumption, if‘ ahy.- : : 5

Wﬁnﬁmﬁmmmaﬂﬁaﬁ?{w¢ww-
AHﬂﬁﬂWOOlSHﬁWﬁWﬁﬁW !Tﬁ:ﬁarmsnzﬂm
$Wﬁ%ﬁﬁ$ﬁﬂﬁmmﬂaﬁaﬁH@Wﬁ?ﬁw
mﬁmw%ﬁﬂmﬁamw%lmwﬁwﬁ
ﬁ_%ﬂmzsﬁﬁ%w.m@aﬂjﬁangaﬁmmﬁam
aﬁaﬂa‘mw% ?5%W—mmwmlmﬁﬁmwaﬁ
jﬂ'&‘ﬁ?ﬁﬁﬂﬁ»"{l |



(h) (@)

, (il

(17 ) | 9192
In the regression model

Y; = A+ AyXy, + A3X3f + oy

" suppose

Ys3;

.

= 10 + 3%

Show that we cannot uriiq’uely estimate the original parameters A, A,
and A3. -
gfemee dfessw .

fas #IfST &6 &1 7@ T Ay, A, 3R A, &1 3= s 7
W THEA | | |
Discuss any f(wo' remedial méasuf-es to eliminate the problem of

multieollinearify. - 5

a-g_“lﬁam (Multic.plllineal;ity) I e N TH Eh‘{?{ % fou fel

W R STEREE. s wowe #ifm |

S PTOY
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(18 )

The'following-regression output relates to the advertisement expenditure (X) and salg

(Y) of a firm manufactuﬁngr‘ garments using cmss-séctibna] data collected in a particular

year from 14 stores that the Company owns :

-

Yi

~ 12088 + 2.0742 X,

0.9949) (0.:2536)

]

S€

() Conduct a two-tailed test for the statistical significance of the slope coefficient

at 1% level of signiﬁca_ncé.‘ |

() ‘Apply the F test to test the preceding hypothesis,

Y: = - 1.2088 +'2.0742 X%

&
I

' (0.95549) (. 2536)

919;
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i (a) ICoris-id.er the‘ foltoﬁring 'reg'r'e’_:ssi_on model :
| Y. = 13_'0. . B,In(X,) + iazl'p(xé) + B;In(X;) + B;ln()Q)# u
~ where | ‘
Y = per capita consumption .d.f potatoes in kg,
X, = per clapita income in Rs.-’OOO‘,
Xy = pribe Qf‘ potatocs mRs per kg.
X3 = pﬁcé of cgpliﬂower m Rs. per kg.
Xy =‘ price of csiBbage inl Rs. per kg.
.(;v) ! wa will ymli‘ tést thejbini h@qthgsis that potato cénsqmﬁti(:_n is not atfected by
the ﬁfices of ca:l__)bage and c':a-uliﬂo'wer ? ‘Ex!)!ai-n the steps invélved in the test with
_ i'eferencc%to the above -inodel. |
| (@) | lf the E‘Stilli’latffd falug of bi is 200, it means “a 1% incréase in inéqme Is associated
\&ith a200% im;,rca_se ip pgf E.}apiti.l _con‘s'unip-tion of p;).tatoes,' gvcrylhing else kept

‘contant.” Is the above interpretation correct ? Explain. . 5
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¥ = By'¥ Bylapcy + Bjin(Xy) + Byin(Xy) + BIn(X,) + u

&

4qel,
Y=Fﬁa’rﬁanqﬁvrﬁwmw,.

X, = Wi =R s 000 T OH,

B -m-ﬁ.mﬁﬁaﬁ.qﬁm%ﬁﬁ%waﬁ-ﬁﬁaﬂﬁ_
m@mﬁwwmﬁawaaﬁ%?wﬁ#@awew
ﬁqﬂwﬁmﬁamﬁﬁwl ‘

(i) ﬂm?ﬁﬁqaamﬁab Emﬂ'ﬁzoo% IWW% “TH e
wﬁmmgq,amﬁmﬁqﬁ:anqaﬁuﬁrwﬁawﬁm%
ww%mw% t”wwwaﬁ% 7@3113:; |



)

the fitted regression equation is :

( 21 ) | 9192
For the regression model

Y; = B] + B)X; + u,

Yi = by + bX, r
In each of the cases below, find the: new fitted regression equation, ?f and express

it in ‘terms of ¥,.

() if we add .a constant A to each X value.

(@) if we add a constant I to each Y value. o x]

-Y_BI+B2X+U

‘amﬁﬁuﬁnmﬂﬁlw%

Y = b, _+ b2X

ﬂﬁéﬁqwmmﬁﬁwﬁmmﬂﬁw ¥, & am
%mﬁﬁmﬁﬁq

'(zjfwmxé-mmﬁ%qwﬁzxﬁsﬁ%i

(i) mm._yimm'%m@muﬁsﬁ%w
- P.T.O.
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(¢) The following model of consumption s e.stimated_!_.for an ecenomy' for -the

years 1947-2000 :
In€; = B + lelanDI, + B3INT, + g,
where C = real eonsumption e)'(pend_i.tures_in Billiens of dollars:
PDI = real dieposable personal in..co.me o billions §f dellais

INT = real interest- rate

and In indicates natural log. _ i ‘ 7 : 1
The OLS residuals (¢,) are ihen__l‘egr_eé.sed on lnPDI, INT and €,.1 as follows : |
e = Ay + AJnPDI, + AJINT, + A, e + v,

The above regressmn is reported to have RZ = 0,0983. Perform Breusch -Godfrey

test to check for the presence of autocormlatlon at 5% level of SIgmﬁcance 5

EL| 1947-2oooaﬁ mfu%%qmﬁﬂﬁﬁ%f@anmaﬂm
% »

InC, = By + B,InPDI, + .B3'INT,.+ u,
s, ¢ = fafemm tem § et il am
PDI = SRl eferw # am?i’t mﬁaawﬁma T,
INT = m?ﬁmaxl-"‘_

e e e v '_.—--—..__,__.\.—..._——_ — —e
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aﬁqaqq aaﬁma (e,)-aﬁ lnPDl",INT- 3R é,_, W e TR uﬁmrﬁqa feray
= A + Azlnﬁm + A3INT + A4' e, | +_ v,

W%uﬁmaﬁrﬂ—omsz.% | 5% W F e W WA

Wﬂ (Autocorrelatlon) N ufeafy S P ﬁ‘—rq JU-MSH e
Eﬁﬁq |

: e | SR - pTO.
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: Standa’rd’ﬂiiml CurveAreas =~ - D) =PAZ<32)
' S o gt o o . Standard normal density curve

Shaded area =D(z)

TR O WY R T LA SR o s 09

0003 0003 .0003 . 0003 = .0003 10003 0003 0003 0003 .0002
0005 . © .0005.  .0005  .0004 0004 . .0004 0004 0004 0004 .0003
0007 0007  .0006. 0006 - .0006 - .0006 0006  .0005 .0005 0005
0010, .0009 0009 - .0009  .0008.  .0008 10008 0008 0007 0007
0013 0013 .0013 .0012 0012 0011 0011 0011 ~ .0010° 0010

0019 0018 0017 .0017 0016 0016 - 0015 0015 0014 0014
0026 0025  .0024 0023, 0023 .0022 0021 0021 0020 . .0019
0035 . .0034° 0033 0032 . .0031 0030 0029 0028 0027 0026
0047 0045 0044 - 0043 . .0041 .0040 0039 -.0038 0037 0036
0062 .0060 0059 - 10057 0055 0054 0052 0051 - 0049 0038
0082 . 0080 0078 0075  .007% . .0071 0069 0068 0066 . .0064
0107 0104 0102 - .0099 0096 0094 0091 0089 0087 - .0084
0139 0136 . .0132 0129 01258 0122 0119 o116 . .0113 0110
0179 - 0174 © ' .0170 . .0166 0162 .0158. 0154 0150 0146 - .0143
0228 022 0217 0 - 0212 0207  .0202 0197 0192 0188 0183

0287 0281 - .0274 0268 0262 .0256 0250 0244 0239 0233
0359 5.0352 0344 0336 . 0329 0322 0314 0307 0301 0294
0446 0436 0427 . .0418 - .0409  .0401 0392 0384 0375 0367
0548 0537 - 0526 ' 0516 0505 0495 10485 0475 0465 0455
- .0668 0655 .0643 0630 0618 0606 0594 0582 0571 0559

.0808 0793 078 0764 . - 049 0735 0722 0708 0694 0681
0968 . +.0951 0934 0918 0901 0885 0869 0853 0838 0823
1151 1131 112 ¢+ 1093 1075 1056 - .1038 10200 1003 0985
1357 1335 - 1314 . ' 1292 q2711 1251 1230 J210 1190 1170
1587 1562 1539 - 1515 1492 - 1469 1446 J1423° 401 1379
841 . 1814 . .1788 1762 736 1711 1685 1660 1635 1611
2119 2090 2061 © 2033 2005 1977 1949 - 1922 1894 1867
2420 2389 2358 2327 2296 2266 2236 2206 2177, .2148
2743 2709 26760 2643 . 2611 2578 . 2546 2514 2483 2451
/3085 - .3050 3015 2981 2046 - 2912 2877 2843 2810 27176

3446 3409 3372 3336 - 3300 3264 3228 3192 3156 3121
3821 3783 3745 3707 3669 3632 3594 3557 3520 3482
4207 A168 4129 . 4090 4052 4013 3974 3936 3897,  .3859
4602 4562 - 4522 . 4483 4443 4404 4364 A325 4286 4247
5000, 4960 4920 4880 4840 4801 A761 A721 4681 A641

- (continued)
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Table A.3 Standard Normal Curve Areas (cont.) ‘

? LADEE SN BT
00 | 5000  5M0  s080 . S0 S0 . 5199 s s
0l 538 . 5438 S8 CSS S5 5596 - 563 S675

0.2 S193 5832 571 59100 38 597 6026 6064
03 8179 &7 6255 6293 331 6368 6406 6443
04 6554 6591 6628 6664 G700 6736 T2 4808
05 495 6950 6985 009 . 04 08 B 1w
. 0.4 BT I8 T4 J3T I MR 44 A8
0.7 7580 761 Jez 7613 T4 . TTM JIM I
08 Jo81 - 7910 7939 797 7995 . 8023 8051 078
09 8159 8186 82 8238 826 829 8315 8340
10 8413 3438 8461 8485 8508 8531 @54 8577
1 B3 B66S  Bisk 8708 817 B 11 & 8%
12 3449 BBY MR A7 925 . a9 . B2 8RO
I3 ] 9032 9049 5066 . 9082 MM S5 s 94 |
14 9192 207 nn % 9251 0 MW O ¥:n . a9 9306 9319

15 MM WM mw 9310 9382 9394 S406 9418 9429 9441
1.6 9452 9463 9474 484 495 9505 515 9525 . 9535 9545
17 | 9554 9564 95730 e 591 9599 - %608 9606 - 9625 9633

14 LI S e W e 6% %93 w9
191 93 Mmoo 92 9w oM 910 - 915% W0
20 Sy 978 9783 9N 97 a1 9803 9808 9812 sen
21 S8 9826 W0 M 8 s 9B 950 st %9
22 | 9861 9Bed . 988 9871 S875  9e78 9881 9884 9887 9890
23 9893 9896 . 9898, %01 - %904 996 9909 w1 L1 KT}
24 GO LB/ SR SR /A IR N N
25 J938 S0 9 9M3 M5 99 98 A9 w1 . g9
25 I3 W95 WSk S e 990 9% w2 e 9u
70| 995 9%6 9% 9ME 99 90 9T w; . o3 9o
28 974 995 . 976 NI 8 9 o w9 9980 9981

29 J81 9582 9982 903 9M 9B 985 905 9m6  oumg
a0 9987 - 9987 997 9988 9988 9989 . 9989 %989 M990 9990
31 9990 9 991 9991 W 92 99 9992 9993, 9993

321 9M3 . 993 99 999 99M - 99 . 99 9995, 9995 9905
33 995 9995 9995 9% 9% 9% 9% 9% 9% 9997
34 T ST ST T e s . WO W e 99

.




-

' 6 7. 12 13 .14 15 16 17 18
500500 500 .500 500 .500 .500 .500 500 ‘500 .500 .500 .500 .S00 500 .500° 500 500
A8 465 463 463 462. 462 462 461 A6l 461 461 .46 461 461, 461 A6l 461 461
A37 430 427 426 425 424 424 423 423 423 423 422 42 A 422 422 422 422
03 407 " 396 ..392 390 388 387 386 .386 .386 .385 385 385 384 384 384 384 - 384 384
04 | 379 364 358 355 353 352 ..351 .350 .349 349 348 348 348 347 347 347 347 347
05 | 352 333 .326°.322 319 317 .316 315" 315 314 313 313 313 312 312 312 312 312
0§ | 328 305 295 290" 287. 285 .284 .283 282 281 280 280 279 279 279 278 278 278
07 | 306 278 267 261 258. 255 253 252 251 250 249 249 248 247 247 247 247 246
08 | 285 254 241 234 230 227 225 223 222 201 220 230 219 218 218 218 217 217
0.9 267 232217 210 205 201 199 .197 -196 195 -.194 193 :192 191 .191 .191 190 190
L0250 211 <196 187 182 178 175 T3 472 170 169 .169 .168 .167 .167 .166 .166 .165
LI 1235 193 176 .167 .162° .157 154 .52 .150 .149 .147 .146 .146 .144 144 144 143 143
1.2 221177 158 148 142 -.138 (135 .132 .130 .129 A28 127 126 124 124 124 123 123
131209 162 142 132 125 121 117 15 .13 111 110 109 108 107 107 106 105 .105
14 [ 197 .148 .128 .117 .110 .106 .102 .100 098 .096 .095 .093 .092 .091 .091 090 .090 089
15 | 187 136 .115 .104 097 .092 '.089 .086 .084 082 .081 .080 079 077 077 077076 .075.
16 | .178 .125 .104 092 .085 .080 077 .074 - 072 070 069 .068 .067 .065 065 .065 .064 064
L1 169 116 .094 082 .075 .070 .065 064 062 .060 059 057 .056 .055 - 055 054 054 053
18 | .161 .107 .085 .073 .066 .061 .057 ".055 053 051 .050 .049 048 .046 046 .045 .045 .044
19 | 154 099-.077 065 058 .053 .050 .047 .045 043 042 .041° 040 038 038 038 037 037,
20| 148 092 070 058 .051 .046 .043 .040-:.038 037 035 .034 .033 032 .032 031 .031. .030
L1 1 .141 085 .063 .052 .045 .040 .037 .034 033 031 .030 029 .028 .027 027 - 026 .025 .025
22 | 136 .079 0S8 046 .040 035 032 .020 .028 026 025 .024 023 022 022 021 021 021 _
23| 131 .074 052 .041 [035..031 .027 025 023 .022 021 020 019 018 018 018 017 017
24 126069 .048. .037 -.031 027 ' .024 022° 020 .019° .018 .017 .016 .015 .015 .014 .014 014
25 121 065 .044..033 027 .023 .020 .018 017 016 015 014 013 012 012 012 011 011
26 | .117..061 040 .030 .024 .020. .018..016 .014' .013 ‘012 012 .011° 010 010 010 009 .009
27 | .113°.057 037 .027..021' 018 .01S 014 012 011 .010 .010 .009 .008 .008 008 008 007 -
28 | .109-.054° 034 .024 019 .016 .013 .012 .010 .009 .009 .008 .008 .007 .007 006 006 006
29 | -.106 051 .031° .022 .017 .014 .011 .010 .009 .008 .007 .007 .006 H05 005 .005 .005 .005
30 | 102 048 029 020 015 012 ‘010 009 007 .007 .006 .006 .005 004 004 004 004 004
311 .09 045 .027' 018 .013..011 .009 :007 006 .006 .005 .005 .004 004 .004 003 003 003
32 096 .043. 025 .016 .012 .009 .008 .006 .005 .005 .004 .004 003 003 .003 .003 .003 .002
.33 1 094 040 1023 015 .011..008 .007 .005 005 .004 .004 .003 .003 002,002 002 002 .002
| 091 .038 021 -.014 .010 .007 .006 .005 004 .003 003 .003 .002 .002 002 .002 002 00
089 036 ..020, 012 .009 006, .005 .004 .003 .003 002 °.002 .002 .002 .002 .001 .001 .00I
086,035 018 011 .008 .006 .004 .004 .003 002 .002- .002 .002 .001' 001 .001 001 001
084 033 .017..010 .007. .005 .004..003 .002 .002 002 .002 001 001 .001 .001 001 00]
O%2 031 016 010 .006 .004 003 .003 002 002 001 .001 .001 .001 001 001 001 001
080 030 015 .009-.006 .004 .003 .002 .002 .00I 001 .001 001 .001 .00l .001 .001 .00I
| 078 029 014 .008 .005 .004 .003 .002 .002 .001 .001 .001 .001 .001 .00 001 .000 .000

(continued)



Table A8 t Curve Tail Aveas (cont.) -

Ny 19 20 1 2 23 U 25 % 2 8 .29 30 35 4 6 10

0.0 | . 500 .500 .500 .500 .500 .500 .500 500 .500 .500. 500 .500  .500 -500 .500 500

0.1 A6l 461 * 461 461 461 461 461 461 461 461 461 461 .460 460 460 460
0.2 A2 422 A2 42 A2 A2 A2 42 421 A2 421 421 421 421 421 4
0.3 384 384 384 383 383 383 383 383 .383 383 383 383 383 383 383 382 .
0.4 347 347 347 1347 346 346 346 346 - 346 346 346 346 346 346 345 < 345
05 | 311 311 311 311 311 311 311 311 311 310 310 310 310 310 309 309
0.6 278 278 218 277 2717271 217 277 277 277 271 277 276 216 275 275
0.7 246 246 246 246 245 245 245 245 245 245 245 245 244 244 243 243
0.8 217 217 216 216 216 216 216 215 215 215 1215 215 215 214 213 213
0.9 | .19 .189 .189 .18 .189 .189 .188 .188 .188 .88 .18 .188 .187 '.187 .186 .18
1.0 165 165 .164 .164 164 .164 .163 .163 .163 .163 .163 .163 .162  .162 .161. .160
1.1 443 .42 142 142 141 141 141 141 141 140 140 140 .139 ¢ 139 .138 137
12 J22 22 1220 021 21 L1210 21 1200 .20 .120 120 120 119 119 117 116
13 105 .104 104 104 .103 .103 .103 .103 .102 -.102.102 .102 .101 101 .099 . .098

1.4 -.089 .089 .088 .088 .087 .87 .087 .087 .086 .086 .086 .086 -.085  .085 083 082
1.5 075 075 074 074 074 073 073 073 073 072 072 072 071. .071 069 - .068

1.6 063 .063 .062° .062 062 .061 .061 .061 .061 .060 .060 060 I.OSQ 059 ° 057 056

17 053- .052 052 .052 .051 .051 ..051 051 .050 .050 .050 .050 .049 .M8 .047 ' 046
1.8 044 043 043 .043 042 042 042 042 042 041 041 041 040 040 038 .037
1.9 036 036 036 .035 035 .035 035 .034 .034' 034 .034 034 033 032 .031 .030
2.0 030 .030 .029 .029 .029 .28 .028 .028 .028 .028 .027 -.027 027 026 .025 .024
2.1 025 024 024 024 .023 023 023 ..023 023 .02 .02 022 .022 021 .020 019 |
2.2 020 020 020 .019° .019 019 .019 .018 018 .018 .018 018 .017 .017 016 01
2.3 016 016 .016 .016 .015 015 .015 .015 015 015 014 014 .014 013 012 012
2.4 013 .013 013 013 012 012 .012 012 012 .012 012 .0l 011 011 .010 009
2.5 Q11011 .010 .010 ».010 .010 .010 .010 .009 .009 009 .009 - .009 .008 .008 .007
2.6 009 .009 008 .008 .008 .008 .008 .008 .007 .007 .007 .007 .007 .007 .006 .00
2.7 007 007 007 .007 .006 .006 .006 .006 .006 .006 .006 .006 .005 .005 .004 004
28 006 006 .005 .005 .005 .005 .005 005 .005 1005 .005 .004 .004 .004. .003 .003
29 0057 .004 .004 004 004 004 004 004 004 004 .004 003 .003 .003..003 002 .
3.0 004 004 003 .003 .003 .003 003 .003 ,003 .003 .003 .003 .002 002" 002 002
3.1 003 .003 003 (003 003 .002 .002° .002 .002 .002 .02 002 002 - .002 001 .001
3.2 002002 002 .002- .002 .002 002 002 002 ..002 .002 -.002 .001 .001 .00] 001
3371 .002 .002 002 .002 002 .001 601 001 .001 .001 .001 .00 '.001 001,001 .001
3.4 002,001 -001 .001 .001 .001 6B} ..001 -.001 .001 .001 .001 .00 001" .001 - 000
3.5 001 001 001 .001 .001 .001 001 .001 .001 .001 .001 .001 .001 ".001 -.000. 000
3.6 001 .001 901 .001 .001 .001 .001 .001 .00I .001 -001 .001 .000 000 000 .000
3.7 001 .001 .00I .001 001 .001 001 .001 -.000 .000 ..000 -000 .000 .000 000 000 .
3.8 001 001 001 .000 .000 .000 -000 .000 .000 .000 .000 ,000 .000 .000 .000 000 000
39| .000 .000 .000 .000 .000 .000 000 .000 .000  .000 .000 .000 -.000 000 000 .000 000
4.0 000 000 .000 .000 .000 .000 .000 .000 .000 ,000 .000 .000 .000 .000

000 .000 .000

—— T o R o e s - - = T
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AREAS UNDEF! THE ST. ANDAHDIZED NORMAL DISTRIBUTION

Example

3 Pr{0<Z<196) 0.4750

04

204

' Pr(Z>1.96) = 0.5 — 0.4750 = 0.025
48 0 . 196
4 00 .01 02 03 . 04 05 .06 07 .08 .09
- 00 [ 10000 .0040 .0080 .0120. .0160 '.0199 0239 0279 .0319 .0350
0.1 0398 .0438 .0478 .0517 = 0557 .0596 .0636 0675 .0714 .0753
02 | 0793 0832 .0871 .0910 ..0948 0987 .1026 .1064 .1103 .1141
0.3 79 1217 1255 - 1203 1331 1368 1406 .1443  .1480 ° .1517
1554° (1501 .1628 .1664  .1700 .1736 ~.1772 . .1808 .1844 .1879
0.5 1915, -1950. .1985 2019 .2054 2088 . .2123 .2157 2190 .2224
06 | 2257 2201 2324 = 2357 2389 2422 2454 2486 2517 .2549
07 | 2580 2611 .2642 2673 2704 .2734 2764 2794 2823 2852
- 08 | .2881 2910 2939 2067 .2995 .3023 .3051 .3078 .3106 .3133
0.9 3159 3186 3212 3238 .3264 .3289 3315 3340 .3365 .3389
10 3413 3438 3461 © 3485 3508 3531 .3554 3577 3599 .3621
SHE 3643 3665 .3686 .3708 .3729 3749 .3770 .3790 .3810 .3830
1.2 3849 3869 .3888 3007 .3925 .3944 3962 .3980 .3997 .4015
18 | 4032 .4049° .4066 .4082 = .4099 4115 4131 4147 4162 4177
14 4192 4207 4222 4236 4251 4265 4270 4292 .4306 .4319
15 4332 4345 4357 4370 4382 4304 4405 4418 4429 4441
16 4452 4483 4474 4484 4495 4505 4515 4525 4535 4545
1.7 4454 4564 4573 4582 .4591 4509 4608 4616 .4625 4633
1.8 4641 4649 . 4656 4664 4671 4678 4686 4693 .4699 4706
19 A713 4719 4726 4732 AT38 4744 4750 4756 4761 4767
20 ATT2  AT78 4783 4788° 4793 4798 4803 .4808 4812 .4817
4821 4826 4830 4834 4838 = 4842 .4B46 .4850' .4854 4857
22, | 4861 4864 4868 4871 4875 4878 4881 4884 4887 .4890
23 | 4893 4896 4898 4901 ' 4904 4906 .4909 .4911 .4913 4916
24 | 4018 4020 4922 4025 4927 4929 4931 .4932 4034 4936
25 | 4938 4040 ' 4941 4043° 4045 4946 4948 4949 4951 4952
26 | ..4953 4955 4956 4957 ° 4959 4960 .4961 .4962 .4963 ' .4964
27 |° 4965 4966 4967 4968 4960 < 4970 . 4971 4972 .4973 .4974
2.8 4974 4975 4976 4977 4977 4978 - 4979 4079 .4980 ' .4981
29 |' 4981 - 4982 4982 4983 4984 4984 . 4985 .4985 4986 .4986
30 | 4987 4987 4987 4988 .4988 4989 4980 ° .4989 4990 .4990




9192 .

PERCENTAGE POINTS OF THE t DISTFIIBUTION

Example ]
Pr(t > 2.086) = 0.025 |
Pr(f>1.725) =0.05 fordi=20
Pr(lt] > 1.725) = 0.10
i
Pr| 025 | 010 | 005 | 0025 | 001 | 0005 | - 0001
- df 050 | 020 . | 010 005 | 002 | -0.010 0,002
1 1000 | 3078 | 6314 | 12708 | 31821 | eses? | sisst
2 0.816 1.886 2920 | 4303 | 6965 9.925 22.327
3 0.765. | 1.638 2.353 8182 | 4541 | 5.841 10214
4 0741 | 1533 2.132 2776 . | . 3.747 4.504 7.173
5 0727 | 1.476 2015 .| 2571 3.365 | 4.032 5.893
6 0.718 1.440 1943 '| 2447 3143 - | 3707 5.208
7 0711 | 1415 | 1.895 2365 | 2998 |. 3499 | - 4785
8. | 0706 | 1.397 1.860 2306 .| 2.896 3.355 4501
9 0703 | 1.383 | -1.833 | . 2262 2.821 3.250 4,297
10 0.700 1372 | 1.812 2.228 2.764 8.169° | . 4.144
11 0697 .| 1363 | 1796 | 2201 2718 | 3106 | - 4.025
12 0.695 1.356 1.782 2179 2.681 3.055 3,930
13 0.694 1350 | 1771 " |. 2160 2,650 3012 3.852 -
14 0,692 1.345 1761 | 2145 2624 | . 2977 3.787
15 0.691 1341 | 1753 2131 | 2802 2,947 3.733°
16 - 0.650 1.337 1.746 2120 |- 2883 | 2921 | . 3.686
17 0.689 1.333 1.740 2110 |- 2567 | 2898 3.646
18 0.688 1330 |- 1.734 2101 | 2852 | @ 24878 3.610
19 0.688 | 1.328 1729 | 2003 | 2530 | 2861 3.579
20 0.687 1.325 1725 | 2.086. 2528 | 2845 |- ' 3552
21 0.686 1823 | 1721 | . 2.080 2518 2831 3.527
22 0686 | 1321 | 1717 2074 | 2508 | - 2819 3.505
23 0685 | '1.319 1714 | 2069 | 2500 | @ 2807 3.485
24 0685 | 1318 | 1711 | 2084 | 2492 2.797 3.467
25 0684 | 1316 | 1.708 2060 | 2485 | 2787 |  3.450
26 0.684 1815 | 1.706 2066 | 2479 2779 - 3.435
27 1 0.684 1.314 1703 | 20527| 2473 | 27 | 3421
28 0683 | - 1.313 1.701 2.048 2.467 2.763 13.408
29 0.683 | 1.311 1.699 2.045 2462 | - 2756 3.396
30 | 0683 | 1310 | 1.697 2042 | 2457 2750 3.385
40 - 0.681 1.303 1.684 . 2.021 2423 | . 2704 3.307
- 60 -0.679 1.296. | 1.671 2.000 2.390 2.660 3.232
120 ' 0.677 1289 | 1.658 1.980 2.358 . 2.617 3.160
00 - 0.674 1282 . | 1.645 1.960 | 2326 2.576 3.090




UPPER PERCENTAGE _UO__,:.w OF THE F DISTRIBUTION °,

9192

ample
(F>159) =025
(F>242) =010 fordf M =10
(F>3.14) =005 andNp=9
(F > 5.26) = 0.01
¥
for difor -
om- | - of for numerator Ny denom-
e P - 4 5 s, 7 8 9 10 M. 12 15 20 24 0 40 5 60 10 120 20 50 <« Pr| A
25 583 750 : B20. 858 882 B8 940 19 926 932 036 041940 958 063 067 971 974 976 078 980 982 984 985 25|
|10 309 495 538 .558 572 S82 589- 504 509 802 605 607 612 617 620 823 625 627 628 630 631. 632 633 833 10| 1
05 181 200 218 225 200 234 237 239 24T 242 . 243 244 248 248 249 250 251 252 252 253 253 254 254 254 .05
25 25 300 315 323 328 331 .33 335 337 338 339 339 341 343 343 344 345 345 348 347 347 348, 348 348 28
, (10 853 800 Bi8. 924 020 933 035 97 938 039 040 041 042 044 045 - D48 B47 047  DA7 948 048 049 940 049 10| .
[ |05 185 180 192 192 193 193 194 194 194 194 104 194 194 194 195 195 195 - 195 195 195 195 185 195 195 .05
01, 885 990 M2 W2 W3 93 WA W4 04 904 004 094 904 994 905 905 995 995 085 005 , 905 95 95 05 O
25 202 228 236 . 239 241 242 243 244 244 244 . 245 245 248 246 - 248 247 247 247 247 247 247 247 247 247 25
40. 584' . 548 5% 534 831 528 527 825 524 523 52 52 520 518 518 &7 516 515 515 514 . 614 S 514513 90|
05 104 955 928 912 901 894 880 885 881, 879 876 - 874 870 866 864 862 850 858 857 655 855 B85 53 853 05|
01 341 08 W5 287 282 79 27 X5 73 ZF2 24 21 269 267 268 265 204 264 263 282 282 282 261 264. 01
25 181 200 205, 206 207 208 208 208 208 208 208 208 208 208 208 .208 208 208 208 ' 208 208 208 208 208 25|
40 454 432 410 41 405 401 398 395 394 392 391 390° 387 384 383 3 380 380 379 378 378 377 378 3 a0
05 771 684 659 639 626 616 609 604 600 598 594 591 586 580 577 575 572 570 560 566 566 565 564 563 05|
01 212 180 187 16.0 155 15.2 15.0 148 147 14.5, 14.4 144 142 14.0 13.8 138 13.7 137 13.7 136. 136 135" 135 135 .01
25 168 185 188 180 180 180 189 189 189 189 189 189 189 188 188 188 188 188 ' 1.87 187 18 187 187 147 28
10 4.06 3.78 3.62 3.52 3.45 3.40 .37 3.34 3.32 3.30 3.28 327 324 a2 319 3.17 316 - 315 3.14 3.13 312 a.12 an 3.10 .10 5
05 681 5.79 541 519 . 505 4.95 4.88 4.82 4.77 4.74 4.71 468 4.62 458 4.53 450 4.48 4.44 443 4.41 4.40 439 437 4088 05
.01 183 133 121, 14 1.0 10.7 105« 103 102 101 9.98 989 9.72 9.55 9.47 8.38 920 . 924 9.20 8.13 9.1 2.08 5.04 8.02 .01
25 1862 1.76 1.78 1.79 1.79 1.78 1.78 1.78 L77- 1.77 177 1.7 178 176 "1.715 175 ° 1.75 1.75 1.74 1.74 174 1.74 174 174 25
40 378" 346 320 318 31 305 301 298 296 294 202 290 287 284 282 280 278 277 276 275 274 273 273 272 .10 ¢
05 589 514 478 453 439 428 421 415 410 408 403 400 394 387 384 381 377 375 374 371 370 369 368 367 .05
01 137 109 878 915 875 . 847 828 810 798 78 79 72 756 740 731 . 723 714 700 708 . 699 697 693 690 - 688 .0f |
25 1.57 1.70 172" 172 1.71 1M 1.70 1.70 1.68 1.89 1.69 168 168 1.67 1.67 1.66 1.66 1.66 1.65 1.65 1.65 1.65 1.65 165 25|
10 354 326 3.07 298 288 283 2.78 275 272 2.70- 268 267 263 259 258 256 2.54 2.52 251 250 248 248 - 248 247 10 -
.05 - 558 474 435 412 397 387 3.719 azns 388 384 360 357 351 3.4 341 338 3.34 3.32 3.30 3.27. 327 325 324 323 .05
01 122 855 - 845 785 7.48 7.19 8.9 6.84 6.72 8.82 6.54 647 631 6.16 6.07: 589 5.91 5.86 5.82 575 574 - 570 5.67 585 .01
25 1.54 1.66 1.67 1.66 1.66 185 1.64 1.64 163 1.63 1.63 162 1562 1.61 1.60 1.60 1.59 1.59 159 158 1.58 1.58 1.58 158 25
10 348 311 292 281 273 267 262 250 25 254" 28 250 248 242 240 238 23 235 234 232 232 231 230 229 40|
05 532 448 .407 384 369 358 350 34 339 335 331 328 332 315 312 308 304 202 301 297 207 205 284 283 .06
o1 1.3 865 7.58 7.01 8.53 6.37 6.18 6.03 591 581 573 567 552 5.36 5.28 5.20 5.12 5.07 5.03 4.98 495 4.91 4.88 486 .01
25 1.51 1.62 163 1.63 1.62 1.61 1.60 1.60 1.59 1.59 1.58 1.58 1.57 1.56 1.56 1.55 1.55 1.54 1.54 1.63 1.53 1.53 1.53 153 25
10 3.38 3.01 2.81 2.69 2.61 255 2.51 247 244 242 2.40 238 234 2.30 2.28 2.25 223 222 2.21 219 2.18 217 2.7 216 .10 9
05 5.12 . 4286 3.86 3.63 3.48 3.37 3.29 323 3.18 3.14 3.10 307 301- 2084 2.90 2.86 2.83 2.80 2.79 2.76 2.75 273 a.72 271 05
01 1086 B02 - 898 6.42 6.08 5.80 5.61 547 5.35 5.26 5.18 511 496 4.81 4.73 4,65 457 4.52 4.48 4.42 4.40 436 4.33 431 .01
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UPPER PERCENTAGE POINTS OF THE F DISTRIBUTION (Continued)

df for . . - df for
danom- ‘ ) df for numerator Ny . di for numerator My © | denom-
“inator - - inator
N Pr 1 2 3 4 5 ] 7 8 9 10 . 1 12 15 20 24 30 40 50 60 100 120 200 500 © Pr N,
25 149 160 160 158 158 1588 157 15 156 155 155 154 153 152 152 151 151 150 150 149 149 149 148 148 25 .
o 0 328 282 273 261 252 246 241 238 235 232 . 230 228 224 220 218 216 213 212 211 209 208 . 207 208 208 .10 " 10
05 4986 410 371 348 333 322 84 307 302 298 294 291 285 277 274 270 286 284 282 259 258 256 255 254 .05
01 100 758 655 599 584 530 520 506 494 485 477 4TI 456 441 . 433 425 417 412 408 401 400 396 383 391 .01
25 147 158 158 157 156 155 154 155 153 152 152 151 150 149 149 148 147 147 147 146 148 146 145 145 .25
- 10 323 286 286 254 245 239 234 230 227 225 223 221 217 212 210 2086 205 204 203 200 200 199 198 197 .10 1
05 484 398 359 33 - 320 309 301 295 290 285 282 270 272 285 261 257 253 251 240 245 245 243 242 240 .05
01 e85 721 Bz 567 522 507 489 47¢ 463 454 448 440 425 410 402 394 386 .381 A78 371 360 366 362 380 .0
25 148 1.58 158 155 154 153 . 152 151 151 150 150 149 148 147 146 145 145 144 144 143 143 143 142 142 25
- 10 318 281 261 248 239 233 228 224 221 219 217 215210 208 204 201 199 _197 196 194 1.93. 182 191 190 . .10 i%
05 475 389 - 349 326 3M 300 291 28 280 275 272 260 262 254 251 247 243 240 238 235 234 222 231 230 .05
01 833 683 585 541 508 482 484 450 430 430 422 416 401 386 378 570 262 357 354 947 345 941 338 326 .01
25 145 155 155 153 152 151 150 140 . 149 148 147 147 148 145 144 143 142 142 142 141 141 140 140 140 . 25
13 | 10 314 278 256 243 235 228 223 220 216 214 212 210 205 201 198 196 - 193 192 190 188 18 188 185 185 10 13
05 487 381 341 318 303 . 202 283 277 271 287 263 . 280 253 _ 248 242 238 234 231 230 226 225 223 222 221 .05
01 807 670 574 521 486 462 444 40 419 410 402 396 382 288 350 351 843 338 - 334 327 325 322 ;319 317 .01 -
2. 144 153 153 182, 151 150 140 148 147 148 146 145 144 143 142 1.4 141 140 140 13 - 138 139 138 138 25 9.
4 |10 810 273 25 239 231 224 219 215 212 210 208 205 201 196 184 191 1.89 187 1.86 183 183 182 . 180 180 .10 14
; 05 460 374 334 31 206 285 276 270 265 260 257 253 246 230 235 231 227 224 222 219 - 218 218 214 213 .05
01 886 851 556 504 460 - 448 428 414 403 394 386 980 366 351 343 835 827 322 a18. a1 309 . 306 303 300 .0
’ 25 143 182 152 . 151 140 148 147 148 148 1457 144 144 143 141 141 140 139 138 138 138 197 137 136 136 .25
15 10 307 270 . 249 236 227 221 218 212 208 208 204 202 197 182 190 187 . 185 183 18 179 179 177 176 176 .10 18
. 05 454 388 320 308 290 270 271 264 250 254 251 248 240 233 220 225 220 218 218 212 2m . 210 208 207 .05
01 868 638 542 489 456 . 432 414 400 389 380 373 367 352 337 320 821 349 308 305 208 298 202 28 287 .01
. 25 142 151 151 150 148 147 148 145 144 144 144 -143 141 140 139 138 137 137 . 138 13 135 135 134 134 25
i ‘| 10 805 267 246 233 224 218 - 213 209 206 .203 201 - 199,184 189 187 184 181 178 178 178 175 . 174 173. 172 .10 | 18
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UPPER PERCENTAGE POINTS OF THE x2 DISTRIBUTION

2383 3141 .

010

Example i m
Pr(x? > 10.85) = 0.85
 Pr(y? >2383) =025 fordf=20
" Pr(x? > 31.41) = 0.05
Degrees ™\ Pr
of freedom 995
1
2 0100251
3 o712
4 206690
> B 411740
8 © ersrEm
7 9802656
8 1344419
g F 1.734826
10 215585
1 2.80321
12 i 3.07382
1B’ . | 3.56503
" . 407468
15 4.60004
18 . 5.14224
17 2 5.68724
18 6.26481
19 6.84398
20° 7.43386
21 8.03365
22 8.64272
23 9.26042
.24 9.88623
- 10.5197
26 11.1803
7 11.8076
28" 12.4613 -
29 13.1211
%0’ -13.7867
40 . 207065
50 27.5607
80 35.5346
70 432752 °
80 51.1720
90 58.1963
100" 67.3276

302704 x 10~ 157088 x 10-° (82060 x 10~° 303214 x 10~* - 0157908 .1015308 - .
: . .210720 575384

6.63480

9.21034 .
11,3449
13.2767

15.0863

¢ . 188119

184753
20.0802
21.6860°

" 232083
24.7250.

262170
27.8883
29.1413

30.5779

31.9889 ..
33.4087
34.8053
36,1908

37.5662

33.9321
40.2894

416384

42,9798
44,3141

. 45.8417

48.9630
48.2782
49.5879

50.8922 .

63.6807

78.1539

88.3794
100.425
112,328
124.116
135.807
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DURBIN-WATSON d STATISTIC; SIGNIFICANCE POINTS OF d, AND dy, AT 005 LEVEL OF SIGNIFICANGE

Ko=1

. K=2

l"-_’,

k=6

K'=T

k'=8

a

*‘I -

q’ .

dy

a4

dy

d.

oy

a

dy

d

dy

F8I3RBRTHELRUIBLBR2EBEY

100
150

0.610
0.700
0.763

© 0.824

0.879
0.027
0.971
1.010
1.045
1.077
1.106
1.133
1.158
1.180
1.201
1221

1.230 .
1857 -

1273
1.268
1.302
1.318
1328
1.341
1352
1.363
1.373
1.383
1.393
1.402
1411

1419

1427
1.435
1.442
1.475
1.503
1.528
1.549
1.567

1583

1.598
1.611
1.624
1.635
1.645
1.654
1.720
1.758

1.400

1.358

1.332
1.320
1.320
1.324
1.331
1.340
1.350
1,361
1.371
1.381
1,391
1.401
141
1420
1.429

1.437

1.448
1.454
1.481
1.469
1.476
1.483

.1.489
1498

1502
1.508
1514
1519
1.525
1.530
1.535
1.540
1.544
1.568
1.585
1.601
1.618
1.629
1.641
1.852
1.662
1.671
1.679
1.687
1.694
1,748
I.77§

0.487
0.559

'0.629
0.897

0.658
0.812
0.861
0.905
0.948
0.082

1,015

1.048
1.074
1.100
1.125
1.147
1.168
1.188
1.208
1.224
1.240
1255

1270
-1.284

1.309
1.321
1.333
1.343
1.354

1.964

1373

1.391
1.430
1.462
1.480
1.514
1.538
1.554
1.571
1.588
1.800°
1.812
1.623
1.634
1.708
1.748

1.896
m
1.609
1.641
1.804
1579
1.562

1543
1539
1.596
1535
1.528
1.837
1.538
1.541
1.543

“1.548

1.550
1553
1558
1.560

1583

1.587
1.570

1577
1.5680
1.584
1.587
1.590
1.504
1.597
1.800
1.815
1.628

1.641

1.852
1.662
1.672
1.680
1.688

1.606

1.703
1.708
1.715

1.780
1.780

0.368
0.45

0.658
0.715
0.767
0.814

0.857

0.887

0033

0.987
0.508

1.026, -

1.083
1.078
1.101
1123
1.143
1:182

A.181

1.198
1214
1.229
1244

1.258

127

1289

1.205
1.307
1318
1.328
1.338
1.383
1.421

1452
1.480°

1.503
1.525
1.543

1.580

1575
1.589
1.802
1.813
1.883
1.738

2128
2.018

1.864
1.818
1779

'1.750

1.728
1.710
1.606
1.885
1.676

1.864
1.860
1.858
1.654

1652

1.851

1.850

1.850

1.850

1.850
1.850
1.651
1.852
1.653
1.854
1.855
1.856
1.858
1.859
1.866

1.689
1.698

1709

1.709
1.715
1.721
1.726
173

1.738

1.774

1.798

0.779
0.820
0.859
0.804
0.827

0.968

1.013
1.038
1.082
1.084
1.104
1124
1.143
1.160
1477
1.103

1208

1222

1236

1261
1273
1285
1.338
1378
1414
1.444
1471
1.494

1.515

1534
1.550
1568

-1.579

1.592
1.679

1728

1.028
1.050 °
1.071

1.090

1.100
1127

1144

1.160
1175
1.180
1.204
1218
1.2%
1287

. 1338

1.408
1.438

- 1484

1.487

" 1.507

1.525
1542
1.557
1.571
1.685
1718

1819

1813

1.808
1.808
1.799
1.795
1.792
1.789
1.788

1.778

.77
1.768
1.767.

1.767

1.768
1.770
1772
1.774
1.778
1.778
1.780
1.802
1820

0.649

-0.692

0.732
0.789
0.804
0.837
0.888
0.897

. 0.925
0.951

0.975
0.908
1.020
1.041
1.081
1.080
1.007
1.114
1.131
1.148
1.181
1.175

1.238

1281

1.334

1.372
1.404
1.433

-1.458

1.480
1.500

1.518"

1.535
1.550
1.651
1,707

2472
2.388

1 2.318

2162
2124

*2.090

2.081
2,035

2,012

1.992
1.974
1958
1.944
1.831
1.920
1.809
1.800
1.891
1.884
1.877
1.870
1.864
1.859
1.854
1.835
1.822

1.814"

1.808
1.805
1.802
1.801
1.801
1.801

1.802

1.803
1.817
1.831

0.398
0.451
0.502
0.549
0.585
0.637
0.677
0,715
0.751
0.784
0.816
0.845
0.874
0.800
0.926
0.850
0.872
0.994
1.015

1.034

1.053
1.071
1.088

1.104

1.120
1.189
1.248
1.294
1.335
1.370
1.401
1.428
1.453
1.474
1.404
1512
1.528
1.637
1.687

2461

2.306
2.339
2.200
2248
2.208
2.174
2.144
2.117
2.003
2.071

2,052

2.034
2.018
2.004,
1.991
1.979
1.967
1.957
1.048
1.939
1.032
1.924
1.895
1.875
1.861
1.850
1.843
1.837
1.834
1.831
1.820
1.827
1.827
1.826
1.832
1.841

0.547

0.588
0.628

. 0.666

0.702
0.735
0.767
0.708
0.826
0.854
0879
0.904
0.927
0.950
0.971
0.991
1.01
1.029
1.047
1.064
1.139
1.201
1.253
1.208
1.336
1.369
1.399

1.425.

1.448
1.469
1.489
1.506
1.622
1.686

2318

2248
2218
2188
2.164
214

2129 .

2102
2.085
2.089
2.054
2041
2029
2017

2,007

1.967
1.958
1.930
1.908

1.882
1.873

1.867 .

1.861
1.857
1.854
1.852
1.850
1.847
1.852

0.830
0.951
0.970

1.008
1.088
1.156
1212
1.260
1.301
1.337
1.369
1.397

1.422.

1.445
1.465
1.484
1.608
1.875

3.216
3.090
2.975
2.873

'2.783

2.704
2633
2.571
2514
2.464
2419
2379
2.342
2.309
2.278
2.251
2.226
2.203
2.181
2.162
2.144
2,127
2.112

"2.098
0.890

2.085
2072
2.022
1.986
1.950
1.9%0
1.823
1.910

-1.901

1,893
1.888
1.881
1.877
1874
1.862
1.863

0.424
0.465
0.506
0.544
0.581
0.616

0.650

0.682
0.712
0.741
0.768
0.795
0.821
0.045
0.868
0.891
0.912
0.932
0.952
1.038
1.110
1.170
1.222
1.266
1.305
1.339
1.368
1.396
1.420
1.442
1.462
1.584
1.665
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(¢) Kinds of Presentations.

(h) Contents of Anmnual Report.

Altempt any three questions. (3x3=13)
ta) What are the features of communication? Explain.
(D) Discuss five modern means of communicetion,

1¢) Distinguish between 'Minutes of resolution’ and 'Minutes

f narration’

() What is the importance of the title pagce in repor

writing?

(e) bxplain how oral presentation differs from speech,

Cite the following as bibliographic entry

Author: M. Bolar: Publisher: Macmillan publishine company:
: ] s pan)

Tatle: Managerial angd Exccutive Remunerat fon in Indi yeur

-

S puaiention: J001: ploce of wubilieatior New Yiess

(%4
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4., Write a short report to the Director of a company about
. the declmc in the sale of Cosmetic goods manufactured by

1t and suggest measures to check it. (10)

3. ,[ Draft minutes of a meeting of the Board of Directors at
which decisions regarding Company's equity shares allotment
; was taken. ' | (10)

4 6. -‘Bring out the key features of oral presentation with

. examples. (10)

7 j_l"Make summary of the fbllowing passage: (10)

+In childhood, stories from epics and folk literature were
‘narrated by our elders in a very easy manner, sometimes
r«_‘u'while"'mst sitting together having a 'cup of tea. These stories
_-"_werc in their minds all the time; they could even tell some
of the verses immediately. As children, we enjoyed these
‘stories and the characters of these epics and folk tales
came alive in our imagination. This was the beginning of
our introduction to Indian literature. The huge amount of

3 -te?:ts - including the Panchantantra, the Jataka tales.
_the Bikram' Baital stories, Amar Chitra Katha and North-
A wﬁﬂk tales- formed the basis of our knowledge of Indian
literature. ‘What has changed is the technological

advancement in society. The coming of the internet has

P.T.0,



made committing these stories to heart unnecessary, lea
to a decrease of the oral culture continued by our ancestor
Exposure to textbooks, which encourage the gettingy

language skills through literature, is, thus, desirable, (1§

(400
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g2 5 - 95

How did the beginning of hunting gathering society fj

expression through pre-historic art in India ? Explain wiy

examples.

aRd ¥ qd-ufagtae wen & w@se 4
@mﬂﬁﬂﬂﬁ@mﬂaﬂ@% ? RO H Ay
HHHARU :

In what ways did the decorative and minor art forms of
Harappa highlight the nature of the Harappan culture. Elucidat
with examples.

G AR o HeA ®Ul 4 g GEHfd I YF
F1 fFg o ¥ IR feEa 7 kR & Wy W
e |

Give a brief reflection on religious life as portrayed in the Stupd
Art m_wa Architecture.
Aﬂﬁﬂ_%mﬁi%ﬂﬁn@éﬁﬂ%ﬂa
Heaql favmarsdi 1 fafm wifsw

( 4 3 9301

Highlight the salient features of South Indian style of temple

art and architecture from the 8th to 12th centuries.
sl & aned! Al @@ ey wen A w1 efu
HIfoIT |

(o

(3rgan)

Explain the characteristics of South Indian sculptures with special

reference to Chola bronzes.

et 4T hell o HSTH W Sfa yRer gfiE w5 e

F GHEET |

How would you explain the blending of Persian and Indian Style

in the evolution of Mughal Paintings ?
e femeren & fawm § wret oin wmdm 96t &
Fgor w1 we s |

RO,
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& drEE @ fae wifen |

( m_v . 9301

Discuss art form reflected in cither Mughal for - Rajast

: hort notes on any o :
palaces and havelis. _

U RETSH ﬂﬁaﬁﬁmﬂﬁﬁjﬁﬂa

YIS W FF FIST

Do you agree with the view that colonial architecture iy

Khajuraho.

ts closely associated with or related to authority. ideology and

@ W R o ffe

modernity ? Discuss with examples.

e

A AT 3 HA W e § fE vy H 3

T A, =R A sy 3 wEtad 7 s

afeq THFT faas=m =wiem
(O

(312
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i@ fore frda ,

|'mm-wéﬁaﬁﬁwﬁqmﬁuﬁawﬁma§mﬁ
ferfeae |

freel dfer el & IR AR |

W e 7 a2

el U R 3 W © |

T YT -9 &7 IR Ao A1 B fFH v s i AfSie, wifer wsh
ITRI T ALAH T 61 BT AT | PTO.




9232 2 0232 3

1.  What is the Significance of the study of Valid Oomssﬂ wm,mw%ﬂ.mﬁﬂ TR ? SR Ty N —
(Samyagjfiana) ? Explain. v 59
LR T e B 7 R I | o
L A & & ¢ What is the significance of Negation in metaphysics ?

Elucidate in the context of Zu\mwm Bindu Tika.

2

Explain “Pratyaksam kalpana podham”. Why i

Dharmakirti add “abhrantam” to the above definition § —arar ¥ FIAAX HT F e B 7 iRl @ wwst ¥

Dignaga ? L f S SR |
“Teger ShedHIaeH ” #t s st | fegAm mwaimmi

, 4 e 1. Write short notes on any two of the following :
# I 7 U’ U9 T o |

Frtfefes & ¥ Rl @ ol w dfr ot R

3.  What are the different varieties of Direct knowledge’|

(a) Kalpana (Construction)

yeae 7 & e veR @ 2 7 v
HedHT ol TEEY
4. What is inference ? Examine in detail the three aspect
a valid logical mark, according to Dharmakirti ? (b) Svalaksana and Samanya - Laksana

I R 2 7 e @ R o @ A v o R 7 AT TF GHRT e
T | | .

(c) Mystic intuition of the saint
. : i ik
5. What are the three kinds of Logical Marks ? HO .ﬁ@..._aﬁﬂ. E —

5 . 9
negation is different from Identity and Causation

L.
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saying that for Humgy

What does Sartre mean by

“Existence precedes essence’ 7 Explain.

T F ford ‘o O W TR B W % E
F1 AN WA B 7 THIEA

O
(1eram)
Discuss Sartre’s notion that “man is condemned to be free”, |
‘T EAS % fed aA ¥ OWE ¥ T W %

—~ =

- [a¥a
faaen wI

In his “Letter on Humanism™ Heidegger says “Huwmanwm pong

to humanitas which is the essence of human being. This essence

rests in ck-sistence.” Explain. . 13

vF-foem § ffea 07 e
Or
(37975
“Thinking accomplishes the relation of being to the essence of
his

the human beings.”™ Discuss what Heidegger means b

-
_J

statement,

b

+

= " -

mﬂ@ﬂ%wﬂﬁﬁﬂmﬂﬁﬂﬁﬂﬂﬁﬂ_,

“For nm_.imz:icm.f conversation is implicit enc

For Hermeneutics inquiry is routine conversation™ (Rorty).

n

Comment. i
% foa wig & = feEm famst 3 — me
Bt |

~ ~

<7
(o

(3197@m)
Explain Spirit and Nature as discussed by Rorty in the chapter
Epistemology to Hermeneutics. I
SEHEE g wfifeRs § W fEw wEm sne aen

T E wmEn w ¥ 7 g

n

€

“Th ot L
€ essential characteristic of reasoning is its generality.”

Explaj >
n S L —on : . B, 3
p Nagel’s analysis on reasoning as discussed in his book

.y_-_.._a —..Nwm (<O~.Q.. i
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(<)
Or

(37ram)

“The concept of subjectivity always demands Objeey
Cliyy

frameworks.” How does Nagel describe the concep,
: of

subjectivity ? Discuss. K

Hﬁﬁﬁg%ﬁﬁa%mﬁmﬁﬂﬂﬂgﬂ
o g1 T fF8 YR ARRTET # sy
1 fog=m @ § 7 wuemEd)

-

Write an essay on any one of the following i

0 Abandonment, Anguish and Despair—Sartre

() Humanism—Heidegger

(iify  Hermeneutics Edification—Rorty ;

(/v)  Defense of reason—Nagel, w

freafofen & 4 frdt wm W fee fofed ;|

iy afee, digr e Frren— ﬁ

(i)  HHIAEE —BEST

i) wH=ferm qur gfgymen faim & 9f#s
(Ufeftrenem ) — et

(v) TfGaE & FEE— T |

ﬁ,Em question DPaper coritaing 8 printed naces]

i
5

vour Roll No. b A S A mcenn
Sl. No. of Q. Paper : 9234 G
Unique Paper Code 112101463

: B.A. {(Hons.) Philosophy

Name of the Course
. CBCS

Name of the Paper : Truth Functional Logic-1I

Semester i IV

Time : 3 Hours Maximum Marks @ 75

Instructions for Candidates -

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) >B.mé@;. may be written either in English
or i Hindi; but the same medium should
be used throughout the paper.
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-
1.

Use truth table methed to determine

th | -
validity /invalidity of the following argume E

Nty .
4

WW%WW%@%}

a) P 5 Q
(P Q)R
Po(R3~Q) /.(PoR)
(b) 1. (PV Q) (P-Q)
2.PVQ) /. P-Q

Symbolize any two of the following : 4 _;
T | a R dr o gdiet § Ry :

and Mercury are.

IS U AE T T Seafs spdtex o A9
2

(b) Itis not the case that if both Iran and North

Korea give up their nuclear program, thet

there will be peace in the South East Asié §




9

N3

34

deme B 3N, o sRror-udt ofyer &

e will be peace in the region only if
{ interferes.

o R T @ Ak T A B

the following in terms of (~,-) and

Reductio ad Absurdum method to
mine the validity/invalidity of the
ing : =
9 @efl fafyr amr fyefafeg &
e Mo Sifeng -

3 P T.0,
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(a) G=> H
Hod
A S
~I Loead
b)) ADB
Co>bh
AVD JAuBVEC

5. Determine the logical status of the foll

(a) p=[p-(a>p)]
b) p2[pV(x~1)]

6. Construct a formal proof of validity ff
following arguments :

(a) If the first disjunct of a disj unction!
the nwwmmﬁm_.ﬂﬂw@ﬁ as a whole i
Therefore, if both the first mﬁm_”.__u_w
disjuncts of the disjunction are &
the disjunction as a whole 18 rrue f
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ﬁﬁﬁm@ﬂﬂﬁﬂw_%md
T A qw Redew g &

S N)- (0> p)

=NV -~P

the conditional proof of validity for the

ng : S
: &wﬂﬁﬂgﬂﬁﬁﬂﬂﬁ

B) > (C-D)
=72

5
P STITET TA1oT BRT Juar iR 557 -

/R

- .___..,a R)

PE)
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9. Use truth tree method to test the validity/

invalidity of the following :

6
T 9 ER e Ra o e arar Ry
HY
(A-B)>~C g
DV(A:B)/.C>(DVE)

10. Reduce the following into either CNF or DNF :

i
FfRae & &M st o7 THRTH T
ATHIT Ef_u-cﬁ%ia CoX
(P=a)>(q-~p)

OR X

11. Construct a formal proof of validity for the

following arguments - ox2=10

FrfaRaT g & ameRte garer %5 wemer =%

(a) Only citizens are voters. Not all residents

are citizens. Therefore, Some residents

are not voters. (Cx,Vx,Rx)




TR el g R meaemr o 2
(b) () (Dx o Cx)

(3%) (Ax-Dx) / -~ (3x) (Ax- Cx)

~ 12. Symbolize any two from the following using

S ¢

Suggested notations ; 4

,_.m@naﬂ.om%%m%ﬂmﬁ@“

(a) Bees and wasps sting if they are either
angry or m&mwﬁmbmﬂ.- AWNUQ.@HN,}E |

T A Ay qef FEd T S F 97 o

T & & a1 =X gw & .

(b) wmﬁ&pm and mwmwm.m are fruits. (Bx,Gx,Fx)
(¢) Only plants have chlorophyll. (Px, 3
P MY & A

~]
U

!
o
v
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Q. Paper : 9329 GC
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({a) {x)(Hx >~ Ix) e Course : B.A. (Hons.) Philosophy

he Paper : Art and Film

(3x) (Jx- ~ Ix : : _
) A J S T& (Hx = Jx) Appreciation (SEC)

(ib) (x)(Ax >~ Bx) b

(x)(Bx = Cx) /. (x)(Lx > ~ m& | Hours Maximum Marks : 75

ns for Candidates :

T B 9T BH WX gRa i 9 S9r

Answer may be written either in English
- or in Hindi; but the same medium should
. “be used throughout the paper.

39 As9-UN % ooX et ar fEY Rl o
O W F A, afeT wslt S s @ 9w
7 89 =R

P10,



9329

(c) Answer any Five questions.
fp=el 9rar usal & IO 4 |

(d) All questions carry equal marks.
qft g % i g ¥

Define art, art experience and aesthetics in

the context of philosophical approach to art.

wM B s gfewer & gt § @,
AT oMY Aledeme @ gfaiiva &% |

Contextualise the nature of art experience in
terms of any two :

(1) rasa - (11) disinterestedness
(iii) sadharanikarana (iv) empathy.

HAT AIHT B Tpla B T=d H fFRr W
feaeft spifsTa | |
(i) & (i) SEeheaT (iti) Trereiester (iv) qermuf
Ilustrate with the help of a film of your choice
what and how does cinema communicate to

its audience.
3T 9E= Pl TH heq # Heg § goiv FHivm %
=T oY g9fel & g g ge da 8tar 2 7

9329

,M”.ﬂ?:m short notes on -
WX Hitrey feaeft i -

~(a) Documentaries as an art form reproducing
the reality. .

| TEEET B w9 § smied o wer ¥

‘ AE m.mm.gﬂn films as an art/craft that focusses
on integrating reality with fiction.

B 5T o e, Reg T oy rEIfamar i
FAMD FHB B Grr Sredt T

5. a_ﬁgmwm would you place censorship, specially
il cinema’s reference, in a work of art ? Can
the two be pragmatically integrated ?

) PTG T A H R B vt F Yoy @
__,ﬁﬁﬂwmﬁf@&ﬂaﬂmﬂﬁq@%%

r. Uo you agree that Parallel cinema is more into
Surrealism ? Elaborate on this with any specific
€xample from Hn&mb\wﬂmbh&\:m:ms\
Hollywood movie that you consider appropriate.

3 P.T.O.




elelple

A

7.

Do you agree that relation between art ang
culture is an intimate one ? Discuss this wjy
special reference to cinema as a tool ?w
communication.

¥ TEes e HT |

How has technology aided or 583@5.3 our
viewing, understanding and experiencing ar
forms like Films, T.V. Shows, Theatre, ang

Webmedia.

T I wer & Aty ww S9 e, dad,
e, TiE SR Fs-difear @ @A, qHEE @
STgeE & H e e TR Eel & B
AT HIFAT |

T

700

Semester
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v

Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper )

(39 7-T F foed & s iy fifa wm w s sEee fafan o)

H&m — Answers may be written either in English or in Hindi;
but the mmam‘ medium should be used throughout the
paper.

TH WIA-T5 1 IW s ar <t fFE

H Fifey; afeT wt W w1 weAy uE @ e

ikl

Attempt any four questions.

All questions carry equal marks.
fFdl | 9wl & W Afe
avt gel # ofF wHE ¥
5 Discuss the political and economic dimensions of the process

of Globalization.
AT F YSHiGE TS S swm wr faEee
I |

PTO.
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1

Hwﬁwﬁs%ﬁﬁﬁﬁaﬁﬂﬂaﬁﬁﬁﬁﬂﬁ

Give a comparative account of Liberal and Radical mn_uamm_ﬁ

to the study of Globalization.

F qeeAs faem gifeu

FeTgEH Wl N ¥ 7w fawmRie 390 4
fawra = 9fea W owwm s wdan wifag

.

How does *Globalization® affect the sovereignty of the natio

state ?

‘IR UR-TS W WA B R gwR w9
Ty 2

Critically evaluate the linkage between human migration

the process of Globalization,
AME YoHT TS SvEte & &g wet @
qegiFT  wifey |

€ -3 22
Is Globalization an irreversible process ? Analyze it through
various debates on jt.

T RAFT T s when g 7 fafir
ae-faarr 5 SR THeT fawerm #ifim

Discuss global sociaj resistance to the phenomenon of
Globalization,

Write short notes on any rfwo of the following
() International Monetary Fund
(i) Global Social Movements

(iif)  Cultural Dimension to Globalization

()  Globalization and State Sovereignty.

mﬂ@m@mm@iﬂﬂﬁﬁﬂ@ﬂ%@g;
(O TR g5y

L

1,100
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nstructions for Candidates

L. Write your Rol] No. on the top immediately on receipt of
this question paper.

Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or Hindi; but the
Same medium should be used throughout the paper.
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What is new in ‘new institutionalism’ ? Write an essay
0

new institutionalism with special focus on historica] e
ff_

institutionalism.

T e W é_fmﬂﬁwﬂw%ﬂm.mﬁﬂﬁﬂﬁﬁﬁﬂ
I T 9 geEr W ey fofee

What is an electoral system ? Discuss the First Past g,

Post (FPTP) system with an example of any one state,

TAR WO T 2 7 W -URC -T-ure (FPTP) WOmer #t fir
N U TST T IS AR T Shieg |

According to Duverger, ‘party is a class and party is¢
doctrine’. In the light of this statement, discuss variou

types of political parties.

TIOR & AN U T 99 3 e ot 271 3w e & o
¥ @ gu AR YR & Temfae T @ Reewo AT

What are the major party systems ? Discuss the merits anb
demerits of a two-party system compared to a multi-pa

system.

mﬁ%%ﬁwwm@-%ﬂmﬂﬁ%@ﬂﬂmw%
el & T FR FE w fHweme ik )

What is the distinction between state and nation ? Discuss
with 2 reference to Western Europe.

ﬁ%aﬂm%ﬂf%@%%ﬂi%@f

F piscuss the transition from communism to democracy in
post-communist states.

,mﬂmﬁﬁﬁiw.ﬁﬁmﬂ@%ﬁﬂmﬂ%ﬂg o
Fiforg |

| How is a federation different from a confederation ? Discuss

the historical emergence of confederation and its
contemporary relevance.

) e s e AR T | TRET B e v e w
TR R w1 R AR |

Write short notes on any two of the following :

Rl ¥ ¥ Rl & w d Rt ffer

(&) Proportional representation

e v

PT A,
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(b) Democracy and democratization
EEICER I EIn EETu)
(¢) Confederation
aRe"
(d) One party system

U Tl Haedr

omop_m,m:o: vmu_m_. > 9237
ie Paper Code : 12321403 GC
Global Politics
of the Course * B.A. (Hons) Pol. S¢. CBCS
. \ %
Maximum Marks : 75

vour Roll No. on the fop immediately on receipt of this question paper.)

.ﬁdm%?ﬂw%ﬂﬂﬁ.mdmw_ﬂmdﬁﬁﬂﬂaﬂﬁwﬂﬂﬁgm 1)
¢ —  Answers may be written either in English or in Hindi:
but the same medium should be used throughout the
paper.

quft $TT-TF HIW S Aw o< et
‘m%ﬁ@?ﬂ&ﬁmﬁaﬁuﬁ%%ﬂ

Attempt any four questions.

All questions carry equal marks.

i%i%%%_
. o g o gEm ¥

What is Globalisation ? Discuss the alternative perspectives

~ on Globalisation.

PTO.
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Critically examine how Globalisation has led to tp,

transformation of state power.

Fyetete 7 fFE 7R TvE vk w1 aRafda
¥, TOE STAES Ty it

What do you understand by Trans-national corporations 9
What has been ,En:. role in the economy of developing
countries ?

WU frt @ erue g g § 2 faerasa
i oW o W o wm o @ % 0

' Critically discuss the impact of global resistances on

international politics with special reference to World Social
Forum.

g s e $ ol g siwdsda o
T A TR B FE H ST = F
Discuss the major ecological issues in global politics with
special reference to the Global Commons debate.

v T for & faem wed # s T
R woE TRfeRE g a W= s

9237

9237

critically examine the concept of human security. Discuss its

rious . dimensions.

I H YR HT SAEAREE T
e fafv= emamel =t == =+

i

Examine the major global shifts taking place in world politics

contemporary times.
we H Aew TsEifa W oygE dfyew
ufEdd w1 e i | .

International terrorism

Non-proliferation Treaty

Migration.

aq § ¥ R @ W dfer feomh ffe
fova 9= :
SIER |fY

EERER

3 3,500 ‘
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Your Roll Noiseresennnnnn.

_S$==No. of Question Paper : 9330 GC

 Unique Paper Code . 12323901

- Name of the Paper

Name of the Course

Your Laws Your Rights

B.A. (Hons.) (CBCS) Political Science

 UI&GIEH T A ;S (W) aorita faas

‘ Sengﬁ:ster : IV

‘ Duration : 3 Hours

Maximum Marks : 75

W 3 Hee oot ;75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
~_° this question paper.
2. % At'fernpt any four questions.
3. All questions carry equal marks.
4. Answers may be written .either in English or Hindi; but the
same medium should be followed throughout the paper.
= fow Fdw
1 -1 fed # e Re e PR e w s st
ferfRew | '
2. T TR g % g A
3. |t WE @ 3h guT B |
4. 3H WET-UA & IR AU a1 BE R v smar A Afse, AT @

IRl T AW UF & BT =R | - P 1.0,
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Do you think that the notion of Rule of law has strengthened

the criminal justice system in India ? Discuss.

T AT A B FF FET D AET F FAUROT T RS ¥ S
= e S Awed Rt 2 7 fEdeer ik

What are the differences between arrest and detention ?

Discuss the rights of citizen at the time of arrest.

fiRd 3R oREer ¥ = W 2 7 ) & gwg amRey =
e IR & fadTer @R

Discuss the different legal safeguards provided to women

against domestic violence in India.

IRA W W, W & Raems wiRensl @ Suemr AT wEe qeen-
Sl & fEe w1

What is the procedure to get information through the Right
to Information Act 2005 ? Do you think that it has

strengthened democracy in India ?

T & Jfver affFmw 2008 & el gEer wita @ @
wiohar 2 ? w0 anT A ¥ R 3O R W Wiead i Aadq o
37 .

9330 3

4

Write a critical essay on the implementation of Forest Rights
Act 2006 in India. Do you think that it addresses the issues

related to women’s property right adequately ? Comment.

WIRA ¥ T - ARIER T 2006 F AT | T AR
ey i | 71 s A 2 R saw wRast @ vuiy @ siftesr
¥ TERE A = e A g9 B 2 7 Radh $ifw

What is rural job guarantee scheme ? Discuss the social

and economic impact of this scheme in rural areas.

AT ISR TRET Ao =21 & 7 e e ¥ zas amifee o
Ffde g = Rd=mn iR |

What are the safeguards provided to a disabled person under
the Disabilities Act ? Critically elaborate.

BBl w & siavia e = St Fr-= qen-sam
e fhy T # ? e 9 Y

Write short notes on any two of the following :
ffofan ¥ & &l & w aftre ot R
(a) Vishakha case Guideline

o =e oo -y

B. T
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(b) Minimum Wages
g T
(c) First Information Report

wrefent

(d) Old Age Pension Scheme

m@mﬁaﬁu%ﬂa

(1000)

;" Name of the Course

[This question paper contains 4 printed pages]

Your Roll No. - —— R —
Sl. No. of Q. Paper : 9240 GC
Unique Paper Code £ 12111405

B.A.(Hons.) Psychology

(CBCS)

Name of the Paper : Applied Social
Psychology

Semester : IV

Time : 3 Hours Maximum Marks : 75

s~ Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
FH 999-UF & O 8 OX I S 9% eraer
I Fex o |

(b Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.

TH U9-99 & I Siden v fB=dy Rt off
TH AT 7 e, afeT asft SO o & 9w
¥ 2= =ifew

P.L.O,
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(c) Attempt All questions.
¥l uel & IR <ifm |

Discuss participation as a method in the
discourse of development and research. (15)

frepre oIk TgEa™ 3 maee #, AriErd & o

f&fr 3 &9 § == 3

OR
HEAT

~ What is applied social psychology ? Discuss

social influences on behaviour. 15

HTeIE ATATSTS RIS & T F | Jaa’
¥ AHINTEG 9@ &1 ==l $He |

What is a resource dilemma ? Discuss the
strategies to induce pro-environment

behaviour. (5, 10)

SES IR F=TOE? ﬁgﬁnﬂﬁﬂdﬂﬂ

FgeR F ARG B B 0 wEEE 9T ==t S )
OR §
HEET

Discuss theoretical explanation of conflict.
Deliberate upon conflict management and
resolution.

mﬂ@ﬂﬂ@ﬂﬁ&mﬂﬂﬁm&ﬂ | faarg
g AR wEEE ™ R N

m‘

o

9240

3. Explain the process of health behaviour change

and the intervention efforts in the area.
(8, 7)

e Fger o 9aed & gihar o gu 89 §
SEIEYT. TATE Sl AT HY

OR
STEET

Discuss the various mﬁ_uaomormm which explain
criminal behaviour.

%ﬂ@ﬂﬁmﬂa@@?ﬂwﬁ&i&m&ﬂ,

Define intervention. Elaborate on the process
of intervention citing relevant examples.
(5,-10)

TEEY B OREINa HT | 9edd Seeel
BATT XA BU BWET F gEAT @ foRga @Y |

OR
HeEFT

Use a case study to explain the process of
intervention and evaluation.

BT SR TAiHT @ Gfkar B gHer & [
Ush e Wl B IYART FL |

i3 P.T.O.
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5. Write short notes on any two of the following :
Prefafg § @ feedl & o¥ gt feorl @i
(a) Job Satisfaction
e
(b) Social Design
SIEIECACER]
(c) Cultural Diversity
reegiores At
AE,Won of Applied Social Psychology in
criminal investigation

S St § aaeiis ameTs "
B i

4 700

(This question paper contains 4 printed pages]
Your Roll No. 8 swenmsmwali T

Sl. No. of Q. Paper : 9337 GC
Unique Paper Code : 12113904

Name of the Course : B.A. (Hons.)
Psychology CBCS

Name of the Paper : Educational Psychology 04
Semester s [V
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
=g UsF-U § urw e o¥ gRa i 9 ST
nEiecraricl _

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
,mmﬂu-ﬁﬁ%ﬂwmwﬂﬂmﬂ&%%
o YT & ST, wfee ol STy U g AT
7 g9 =ned |

(c) Attempt all five questions.

g 9" oA & SuX AT
P.T.O.
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(=Y
.

Students often lack the ability tc monitor,
manage and regulate their own behaviour. How
can a teacher help them do so more
effectively ? 15

BET H SRR U WE $ Hger @ R,
usEq g AT #S & erHar & &S At B
o s o€ 7' w9 avdt & @ s § faw
IO BT HT THAT T 7

OR

arergr

Debate on the efficacy of cooperative learning.

Tqearit R @ gwgsiar uT 989 &Y

"The classroom is a multicultural world."
Reflect on various dimensions of diversity found

in a classroom. 15
‘el Ueh wWgdlERioEm givar B wmenr F um o
et m&wﬁ $ A= ST 9T M) #Y
OR
ST

How do students differ in terms of their
thinking/learning style ? How to teach
children with different temperaments ?

Qﬂ%@w%im%@%%%@w
A= w@wa & I=a7 @ $49 e =fgn ?

2

. 9337

3. Describe the positive design of classroom

management. Discuss how rules and
procedures can help in maintaining positive
classroom management ? (5,10)

FHelT Mg & TERHE BT Fr avig &3 | o=t
FL_F BY THRICTS F&T a9 F 9970 @y F
Fram oMX ufshod wem@ar &% gy § 7

OR
HEIT

What is classroom management ? Explain why
classroom management is both challenging
and necessary?

amﬂﬁmﬂﬁquﬁﬁ%@%ﬂﬂm&%ﬁ
AR oavFs A A B 7

(a) What do you mean by exceptionality ?
Explain the characteristics of children who
are gifted. 2,6
SHIIIE F ST T AT & ? gferarensh s=a1
o fawereti @t e #5iT |

(b) Give effective ways of educating children
who are gifted. 7
SRITITE w= F R #S B wweeneh
TS ey |

3 Pl
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OR
HEGT

(a) Explain the legal framework and
technology advances for children with
disability. :

semd =l & ey § @ e
TRAIBI ST &I AT HY |

(b) How would you teach the concept of "safety"
to a student with mild retardation ?

f3reror g 27 ?

S. Write any two short notes from the following :
7.5%2=15

FrefaRea 5 § 5=t & gr el g -

(a) Strategies for fostering creative thinking
in students

BEl H TE® 99 H sgEl 29§ fam
iterar
(b) Multicultural education
ggaicpice Qe
(c) Teaching students with Learning disability
(d) Characteristics of effective teacher

gqE] STeIT9eh & fEdiwar

(e) Goals of classroom management
FET & €U F Y
“ 100
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Your Roll No.
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S1. No. of Q. Paper : 9238 GC

Unique Paper Code 12111401

Name; of the Course  : B.A. (Hon_.s) Psychology

: (CBCS) |

;Jame of the Paper | : Understanding Psychological
Disorders

emester 5 IV

?Urétion ' : 3 Hours

;ime!: 3 Hour; | Maximum Marks : 75

1structions for Candidates :
(a) Write your Roll No. on the top immediately
on receipt of this question paper.

9 9999 & O B OY @’a o a¥ arer
U FET ford |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

239 S-S FOITY SAOS r RRY B w
e H S, dfe @i oo u S sysT &
B9 =R

PO,
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(c) Attempt all questions.
Tl Helf & Ia AT |

(d) All questions carry equal marks.

ol Ut & of g 2 .
Define Abnormal behaviour. Evaluate various
criteria of Abnormal behaviour. (5,10)

ST E8IX @l Ui 1 | STErT S8l
FHl HANHr B SFATHD TeAHT B |

OR
HEGT

Disciiss in detail the biological methods of
clinical assessment.

M»@ﬂ%&mﬂﬁ%%ﬂ@ﬂa@m&

De scribe the clinical picture of .mﬁ% one of the
anxiety disorder. Support it with a case study.

(10, 5)
mmwmﬁmmmﬂﬁ % JaIe WEY B A
_

39 T B AT I AT B |

OR
HEqr
What is somatoform disorder ? Explain clinical

picture and causes of Hypochondriasis.
(5,5,5)

Hremreg gl @ & 7 Iy Bl & S
forsr wd el @1 guie &Y |

2

9238

—

3. With the help of case studies explain the

symptoms of any two Eating disorders.
(7.56;7.9)
9 oTHaY $ Has o fHel A @™ [fwd &
e Bl ATEAT B |
N
OR

HEEGT

Describe the clinical picture of Major
depressive disorders along with its specifiers.

vgE foudl @l & @AY @l B oA SHe
e = B mEga Y|

OR
AT

With the help of case study describe the
clinical picture of Schizophrenia in detail.
P (5, 10)
FH JEEE B GEEAl ¥ FHraeTr B e

R &1 Rrargds avte #Y

0

P.T.O.
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OR
STEGT
What is personality disorder ? Give clinical

picture of Anti-social personality disorder or
Borderline personality disorder.

ik Rl =1 & ? oue B =R '
ol sroren drmEr afae Rl & Yt
TR &I goig HT |

5. Write short note on any two of the following :
(7.5, 7.5) |
e 7 & Bl & 9) e fewoh farfg -

(a) Classification system of abnormal
behaviour

STEHT HIBIX Pl T Jolat M
(b) Conversion disorder

ISRISE CEAR|
(c) Gender identity disorder

[T wear fasphy
(d) Any one developmental disorder

P
~l
o
-

This question paper contains 4 printed pages]

Roll No.

S. No. of Question Paper ' : 9246

Unique Paper Code : 12131403 GC

Name of the Paper : Sanskrit and World Literature (C-10)
Name of the Course : B.A. (Hons.) Sanskrit CBCS
Semester 3V

Duration : 3 Hours Maximum Marks : 75

|
* (Write your Roll No. on the top immediately on receipt of this question paper.)

Note -—  Unless otherwise required in a question, answers should
be written either in Sanskrit or in Hindi or in English;

but the same medium should be used throughout the
paper.

feroqutt : — o791 SEYAE 7 BN W TH U¥H-TF HT IO T
r fe=t o it frelt ww W A SIS W
gt SW &1 HieAw TE € e dfeu|

Answer any five questions.

gl e e # sw G

P.T.O.
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(2) 9246
() fgw et T M H i Ao a= & 72 7%

What are the similarities between Vedic and Greek

Gods ?
(@) Frefafes vpa v=t 3 & sl 99 & woge
e v fafem ’ 7%

Give equivalent of any three of the following words in

various Indo-European Languages

a1fq, gy, ify, faar, <31
() 7 F T B R e AR o
Describe how the Pancatantra spread in Europe.
(@) el TEEE W oy feorf fafa) 5
Write a short note on Akbar’s Paiicatantra.

TR Fd ufwel & oIqa] & g<d § guma 3
3ufeg o3 # wEE ol w1 faeem wifsm s

Discuss the similarities between Upanisadic philosophy and
- \. )
Sufism with reference to Dara Sikoh’s translation of the

Upanisads .

Lh

) 3 ] 946
(%) <feror gd wfern i EEpfd W OTEYRA & W
w Ty ey fafau TV

Write a short essay on the influence of the Mahabharata

on folk cultures in South East Asia.,
(@) Mm@ # T H97| T
The story of Rama in Indonesia.
TIa T 3 SuEeTEE § ogfes s Afed @6
9 yuifaa frar 2 fagod: TmME©, 7EvRG o At
% <l § fag=m =i 15
How did Sanskrit literature influence miniature painting styles

in medieval India ? Discuss with special reference to the

Ramayana, the Mahabharata and the G ita-Govinda.

(%) S=radt g dreet SR § G aeEd ® i gad
1 F g W R 7 10

How did Europe receive Sanskrit in the 19th and 20th

Centuries ?

(@) T & H&7 I TER | 5

Translations of the Gita in.major European languages.

PTO.
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Frerferfier 3 & ot & ¢ femforat fenfiere -

Write notes on any rwo of the following :
(%) sl H HEhd
Sanskrit in the USA
.A@V =@ H g&Fa A
Sanskrit studies in China
() wEEN H OEERG SR

Sanskrit studies in Germany.

9246

2xTWH=105 A

§

1 500
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Your Roll No. eeeeriteciinieinennn..,

Sl. No. of Q. Paper 9252 GC

Unique Paper Code : 12301403

Name of the Course

we

B.A. (Hons.) Sociology
CBCS

Name of the Paper

LY

Social stratification
Semester c IV

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

SH 9T B o1 AN ) qia i 9% eyger
A Fax ford
(b) Answer any Four questions.
=l =% uet & sux ifra
(c) All questions carry equal marks.
' gt B of g ¥
(d) Answer may be written, either in English .

or in Hindi; but the same medium should
be used throughout the paper.

PT.O.
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= ge-g5 @ I% SUeh ar fe=ll feel W
ue | AfTe, AfFE Tl IO a8 A
¥ B89 Tned |

How is social inequality different from natural
inequality ? Explain with suitable illustrations.

A RsEar S R & % B R 7
Sfera STl Afed W B

What is the nature of social class in Industrial
societies ? Compare how the case of USA is
different from that of the Soviet Union ?
et TEST § arfeRs o @ e g § 7
qET &R B ol F SEe diead w6
3 =BT

Critically examine the functional bmommmw@ of
stratification. ‘
qEeT WY |

Explain race and ethnicity in the context of
social stratification.

%mmﬂ_ﬂmﬂ‘ﬁﬂiﬂ&ﬁﬁﬁwﬁim
R R |
2

»

S.

9252

How relevant are class and race in
understanding gendered oppression ?

Sedga oded @ wase # g g wenk e
o § 7

Oimnm:% examine the role of educational
system in the reproduction of cultural capital.

A OO @1 gy # Jees TR w6
iHepr H AAIARTD AT X |

3 600
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Your Roll No. g Y SR

Sl. No. of Q. Paper  : 9251 GC
Unique Paper Code : 12301402

Name of the Course = : B.A.(Hons:) (CBCS)
Name of the ,wmmﬂ. : Sociology of Kinship
Semester . IV .

Time : 3 Hours hﬁhkm_q:wa h_ﬁa.lnm”,,... 75

Instructions for Omb.&nnnom_ .

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

mﬁnﬁ;ﬁwﬂﬂ%ﬂ@ﬂmﬁﬂ@_ﬂﬂ
U A% ot

(b) The question paper is divided into two parts
Part A & B. Attempt any Three questions
(20 marks each) from Part A & one question
out of two (15 marks each) from Part B.

97 OF A GRT % g g F R S
AT &% § feel A9 geet ; (20 3% gfy us)
mﬂﬁﬂ@wﬂﬂm&ﬁu (15 i ufer wes)
B I T

P.T.O.
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0251

{c) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

T UST-9F FH I Side gr Bt e <
Th AT H e, dfe w9 e o & s
7 39 =eg |

PART-A
- (®)
With reference to the Nuer, examine how the
lineage system functions as an aspect of the
political organization ? (20)
I F e =0 aAd e s dargen
T SIS TAST & TH AW mw e FA
FHIA B |

. How is Incest Prohibition the cornerstone of

Marriage Alliance ? | (20)

ﬁdﬂﬁﬂﬁ@ﬂmﬂ@ﬂﬁﬂ&%@%ﬁg
mwdwﬂ

eﬁ._mﬁ is E‘E mwmﬁumombon of elementary family
in WmaoEmm Brown’s theory of aomombﬁ mwosﬁm ?
. (20)

.mwmﬂﬂlmaﬂ%ﬂ%%*ﬂﬂamﬁﬂg

B T HEA O 7
2

i

9251

4. Do Nayars lack the institution of marriage ?

Give reasons for your answer. (20)

T A H A & dn @& A9 g 7 A9
IO H FHROT FART |

Write short notes on any two of the following :
(20)
gt & wx e ol R
(a) Family and Household
uRaR T TeRl
(b) Double Descent
@lﬂjﬂm
(c) Relatedness
e

PART-B
(=)

Discuss the importance of sexuality and gender
for an understanding of kinship. (15)

O H THeE H AT g Je¥ B Tqed ol
== i |

3 .. P.T.O.
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9251
¢Your Roll No. - Ggrerererenenenes
7. In the light of Schneider’s critique of kinship, Sl. No. of Q. Paper : 9250 GC
examine the relationship between New
Wm_owoacoﬂ.qm Hmobbo_omﬁw and culture. (15) Unique Paper Code : 12301401
i Al ® § & 9 Name of the Course : B.A.(Hons.) Sociology
nﬂjﬂﬂmﬂ&mﬁ%@nﬁwﬁmﬁ CBCS
TiEeT Y |
aName of the Paper : Economic Sociology
Semester ; 2 IV
p Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
v 3 FS-UF & 91 B 0¥ gl o ov erger
A 9 ford |
(b) Attempt any four questions.

sl =X 9eAl & Sax T

(c) Attempt three questions from Section I and
one from Section II.

- AT I & &9 9 9T II ¥ O 4S9 S o997
5 kY e |
P.T.O.

4 600
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(d) All guestions carry m@ﬂm,; marks.
gf gt & of g B

(e) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

= US-UF & Sox et ar Rl Rel on
usp Wi § g, afeT v+ SO @ & AW
d a9 =eu | ,

SECTION -1
G215 AR |

1. Assess Polanyi’s contribution to economic
sociology.

%%m&i%&ﬁﬂﬁ%ﬁﬂ
ST |

2. Compare the nature of markets in simple and -

modern societies.

ﬁﬁmoﬁmﬂﬂ%mmﬁ&%%&@mﬂ
FHIFT |

3. How does Granovetter’s network approach
critique the formalist model ?

SrAeT H OF SUNH Y SR EEuard aREE |

B AT BT 7

4

9250

Elucidate the view that hunters and gatherers
belong to the original affluent society.

59 R & ' Hibe 5 Reed g d@ussar
Ao Jrgd T9 F e B

>sm_%.mo the nature of capitalist mode of
production. How is it different from socialism ?

%%%&%ﬁ&%ﬂ%ﬁ
T guoEE O g uer e e ?

SECTION - 11
{191 - Il
With the help of illustrations from gift

exchange, examine the relevance of the
substantivist m@ﬁﬂomouu

%%ﬂ@ﬁﬂ&&ﬁﬂﬁﬂ@mﬂmﬂ&
U T T & qderer @i [

What is globalization ? How does it impact
consumption patterns ?

ﬁ&%ﬂ&ﬂwwﬁmﬁﬁ:%%.@m

g gHifae saar 8 ?

3 600
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9352 GC
12303402

B.A. (Hons.) Sociology
CBCS

Hmoﬂuﬁcow of Ethnographic
Film Making

IV

Maximum Marks : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.

T U9T-9F % 9T« &M U¥ gia oY 9% 79T

T FaY ford |

(b) Answer any Four questions.
gl =X gsf & Sax ftm
(c} All questions carry equal marks.
il ueHl & o wHE T
(d) Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.

2.1.0;
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=9 IO & I AUS a1 B e <t
ue arar § 7T, Qe §4l SO U & A
7 8N = |

Write a note on visual and textual authority
vis-4-vis the ethnographic subject.

Jore e & HeW # g 9 9e omuRd
wifERT a¥ T feweht &1 |

Examine the role of ethics in film Bmw_bm
according to Heider.

ﬂﬁ%ﬁ%ﬂ%ﬂ%mwﬂﬂ&%ﬁ
N TOET B |

Discuss the use of camera in ethnographic film
making. Illustrate with “Trance and Dance in
Bali’ by Margaret Mead.

o e et § R F w3 A fFees
F¥1 g W B} BE S g | 3 9|l
B TR B

. Isit possible to attain objectivity while making
a film ? Discuss in the context of rapport
building.

ﬁ@%ﬁw&ﬂﬁwﬁﬁ%&ﬁﬂﬂ

T GG B T & 7 Sree-fmier & d@ed |

Ceeuiiclimd

9352

5. What has been the impact of technology in

ethnographic film making ? Illustrate through
the works of Rouch.

ForeT fbew Fefor & oAl @ R T w@T B 7
B B HAl B AT § WL BT

Compare Rouch and MacDougall’s styles of film
making from the point of the relationship
between the film maker and the filmed.

e frafar g e o9 ol & 9oy G99 %
gftepror & 1 g HhgTa B (e T & qlh
H GAT BT |

How has an anthropological understanding
influenced different modes of documentary film
making ?

Th o Tue 9 R gerd @ g9 REr @
frg g miE Rear & 7

3 500
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Your Roll No....coesreseses
Sr. No. of Question Paper : 9239 GC
Unique Paper Code » 2 12111403
Name of the Paper . C-PSY-09 Statistical Methods for
Psychological Research — II
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Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of

this question paper.

2. Attempt ALL questions.

3. Calculators with simple arithmetic functions are allowed.

#. Statistical tables will be provided.

5. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

B @ fog frewm

. =G U - @ o B W R g iR v W S9Er SR
feriag 1

2. |eft Wl & ST HINH |
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1. (a) What is inferential statistics ? Discuss the two types of

procedures of inferential statistics. (2,3)

FAAE Rt R 7 FEWHE wikmet @ @ OUER
o ufhars @ AU S |

OR

What are the properties of the sampling distribution of

difference between means ? Compare one-tailed and two-

tailed tests. (3.2)

2 T M D 99 HR W AR - @ T W
= FRT T @ IR Res el it ge iw

(b) What is the t-test ? What are the assumptions associated

with inference about the difference between :Hn

independent means ? {1:4)

t-test M B 7 ° WAT WA D WA HAR B IR &
Ui HIY |
OR

Discuss the two types of error in hypothesis testing.

(%)
TR WeEw ¥ A wEr N FRA w T A |

9239
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(c)

(a)

3
Given the following :
Group X: Mean = 165 SSy =840 n =36
Group Y: Mean = 175 SS, = 1008, n, = 49

Set up null and alternate hypothesis (non-directional);
perform the t-test for independent samples (o =0.05)
and draw final conclusions. (5)

Frafofas wew fa w .

WE X: WER = 165 SS, = 840 n

X

36

HeAAT = 175

Il
Il

e Y SS, = 1008, n, = 49

Yy

T IR Awlerw sfvmer (sRwrers); T gT ¢ &
T AN W @ ol IR (a=0.05) 9O SR
e fRemiferd |

Describe the advantages of confidence intervals over

(5)

hypothesis testing.

fEam H0d & RGeS GAEW H gAN W WG &
faamm I |

OR

What assumptions must be satisfied when testing a
hypothesis about the difference between two dependent

)
PoT08

means 7
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W AT B WA B 7

(b) A group of 64 college students were compared on
emotional intelligence scores before and after a session
on music therapy and the data is given below (r = +0.50).
Set up H, and H, (non-directional); evaluate t at

o =0.01; and draw final conclusions :

Before therapy After therapy
Mean Sy Mean N
88 16 85 12

oaﬁ@ﬂiidﬁiﬂmﬂgﬂﬂ,%ﬂwﬂqwﬂ@
IR A B FA A geen S T T vE W A Rar @
2 (r=+0.50). H, 3k H, (sRwews) srd ¢ &t woE

a=0.01 | FRD Ik I Feed Rl

frfrer ¥ v Rfyer & a=
WMAAA  WES (e WA HES e
(S,) S,)
88 16 85 12

(c) Two dependent samples yield the following data :

X =75, sx=15, Y =86, sy =18, n = 100, rxy = +0.68

Construct a confidence interval of p, — p, according to

C=0.99

(5)

&

e

9239

o Waa wiew @ e FefoRaa 2

—

X =175,sx=15, Y =286, sy=18,n =100, rxy = +0.68
iy — iy T foFamE - Sie@ C=0.99 & R & et i |

3. (a) Describe the assumptions associated with ANOVA.

ANOVA ¥ dafod sfneEl = 9vi= Fifse o

OR

(5)

Describe the similarities and differences between an F-

ratio and a t-statistic ?

(5)

FaUe o t\iReat &t #eg emane iR fasel &1 9o

FIAY |

(b) A researcher wishes to compare the effectiveness of

three different memory-enhancement programs. She

randomly assigns students to the three programs and

measures their scores on a standard memory test.

Following is the data :
Program A Program B Program C
5 i 9
4 8 6
s 5 11
g 4 10

P10,
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4.

6

lternative hypotheses.

he a
rmally the null and the mmary

present the results 11 a su
our conclusions.

(10)

State fo

Calculate F-value and

table. Evaluate at &= 05 and state ¥y

o it e o 3 2
3| FreAE S
e A | wEmA B | wEEAC
5 i 0
4 i °
) . 1
m . 10

Suaier & € A T
e T OE g A .
1 =005 W o Frewd TR

ﬁthmmnHHDw _wwﬂw ”HPM_.MMPHHWMHme“m OH ﬁ.ﬁHw U._H

statistic.

: g |
. fRrETst W A
.x_mlmum e calical

OR

s qREE ® AR e | F-

i-square

(5)

9239
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What is the difference between parametric and nonp-

parametric tests ? Describe some applications of the
(3,2)
TrHfereR Qe I Wrafers alen & W o SR 2 7 R el
T B F SR w A 9 |

non-parametric tests.

(b) A researcher would like to know which factors are

most important to people who are buying a new car. A

‘sample of n=200 customers between the ages of 20

and 29 are asked to identify the most important factor
in the ao&mmou process: Performance, Reliability, or
Style. The researcher would like to know whether there
is a difference between the factors identified by women
compared to those identified by men. The observed
frequencies of most important factor according to gender

are presented below :

Performance Reliability Style
Male * 21 33 26
Female 19 67 - 34

Do the data indicate a significant difference between
women and men on the most important factor in decision-
making while buying a car ? Test at the .05 level of

(10)

significance.

BLL.Q.
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L]

ﬂ%ﬁww.wowmom&%mﬁ%a&oo%
%%ﬂﬁﬂ@aﬂmﬂﬂﬁ%%mﬂ%?ﬂﬂ
=9 WER ¥ § -Wedw, e e farst | Tuehdl el
%iw@%mﬁﬁ&%%ﬂﬁiﬂwﬁ%
iR o A w8 | FrefaRaw sngre wE T
33 26

L 2]

~3

=i 19 67 G

A s O A TE @ wR wad P o ¥ e
FE & q" e eIy @ ! o = 0.05 T TALUT HEH AT
_w_ﬂ#m mm_mw_

Answer the following questions :

Frfafa TE & SR ARl

(a) An independent-measures t-statistic is use

d to evaluate

the mean difference between two treatments with n =8
in one treatment and n =.12 in the other. What is the df

value for the t statistic ? (2)
3 wgr wE & el @ wen Pt R
E & n=2_8

e W n=12 .
ﬁ%ﬁ%ﬁﬂﬂw%@a%ﬁ%%%@f

9239° 9

(b) Why are there fewer degrees of freedom for dependent
samples in comparison to independent samples design ?

2)
wAT Aey N gE A Wad wed & df 4od w9
BT B 7

(c¢) A researcher uses an independent-measures t test to
evaluate the mean difference obtained in a research study,
and obtains t=3.00. If the researcher had used
an ANOVA to evaluate the results, what would be the
F-ratio ? (2)

T T - IAET A A H AT A (t=3) IR Merwat
F T e F T ANOVA &1 3iFe & 2 O 2698
@ Fapns &7 e o B 7

< (d) In one-way analysis of variance (independent samples

design), equal number of subjects were distributed among
=4 and df =25,

within

several groups. If df

bet

(i) how many groups were there ?
(i1) how many subjects were assigned to each
group ? L L3l
> T Wma ANOVA ¥ waral &t Rt ol & a wen ¥
faaRta fohar @ sRR df =4 oK df . =25 & W

within

|8 9 P
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Roll No.

(i) =y A foraT wE B9 7
. S. No. of Question Paper : 9130
(i) werw W @ B ey wee sl Bl e 3

Unique Paper Code . 62273426 GC
(e) In the chi-square test, why does the region of rejection Name of the Paper . Research Methodology
always appear in the upper tail of the distribution ?
(2) (Skill Enhancement Course—Il)
N xu & & 3 m@ ¥ & w4 A 297 . Name of the Course : B.A. (Prog.) CBCS — SEC
4+ Semester . M\
z 3 9
(f) What do you understand by the power of a test (2) Dhiatlo6E 3ok T
qaeT & ear ¥ 39 I A 77 . :_,\.:m._...“:_... Raoll No. on the top .......qt.i:.::w\.-_ on receipt of this question paper.)
: " (38 YvA-73 & foed @ W fau Ty fwifa =W W se sewEs fafan 1)
(g) What is SPSS ? Discuss its applications. (1,2) _
Note :— Answers may be written either in English or in Hindi:
SPSS wm ® 7 g@en! m@ﬁ.:w @ quiH File | ' but the same medium should be used throughout the
g ¥ paper. .
feault :—39 Y- &1 SW AUSH ar 5 R uw wmm
| T ffSu; afwT g 390 1 eEm uE @ A
et =feq |
WA. All questions carry equal marks.
_ Attempt any five questions out of Eight questions.
. [t Y @ oF A T
» W

FA M3 T H ¥ fHE wea WA & SW S

PT.O.
(&0O0)
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(¢)  Explain the characteristics of a good research and discuss

the types of research in detail.

(h)  What is :_n. difference between Quota sampling and
snowball sampling ? 10.5

() TF T WY H fewmad way qdr fawr
q MY ® WER H AT FHIGU |

(F) ®E gfaega q SeE giaggd & dh SR
F T ?

(@) Explain various steps involved in m.q.mmmm_‘n:
process.

(/) How a researcher reviews the literature ? Explain various
methods for it. - 7.8

(21) % Ty ufew A wfmfem fafim wedl =
forgerr wfemm )

(F) TH VA HY wifefors T w@ ¥ sEH
fau fafy= wsfm #1 =rew =i

(@)  Explain the principles of sampling. What are the methods

of drawing a random sample ?

( 3 ) 9130

(h) ~ What are the essential characteristics of a good
questionnaire ? 87

(1) wfaemm & fogra =1 = #:ifMe & 39
gfqeaq w e & @+ oaw 2

() TF T geAEed &1 sEvasw  favoand e
g 2
(¢)  Enumerate the different methods of no:aa:__.m data giving

one example of each.

() What are the steps in the process of data preparation ?

Explain in detail. _ 7.8

(1) v & fau uw I @ g ositwe ©Uw
& fafa= faftdl #1 om @i

() SFe TR HH FH UGEA H o weH § 2
foem |8 wwemu

(@) ~ What are the Ethical issues concerning the research

1

participants of a research activity. Explain.

(h)  Statistical Analysis plays an important role in research.

Justify. , . 87

P.T.O.
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(31) TF WY FE F I wrfierd & @aa At
T @1 § 7w A

-

(|) w9 H

fram 3 =eET fag wie

(¢) Define the main issues which should receive the
attention of the researcher in formulating the research
problem. Give suitable examples.

(by  Explain how qualitative research differs from ﬁcm:.m::?n
research. 10.5

va@w&%q@éﬁﬂ%m%%m%%
ﬂlmﬁwﬁﬂﬂﬁﬂﬁgﬁdﬁﬂ%_

() oftaeTE v A O Y F3 fu=
¥ 7 foagemm =T

(@)  Explain the various types of sampling techniques used
by a researcher for a research activy.

(by  How the research report is prepared for any research ?

Explain. L

9130

C 5 ) 9130
(1) TH My fFa-wema & fau Mmywal g fafis
YHR H Yfa=gd q@disl & ITam &1 fagermm
FHifora |
(@) fFet vy @ faw vy framo #3@ TR fEa
S ¥ 7 favemor wifwgy

Write short notes on (any fwo) : 7

n
~
h

(@)  Research design

(h)  Types of interviews in any research
(¢)  Referencing systems

(d)  Sample size.

frdl @ W wfw frooh fafed
(31) TMY WrEY

(%) foEl My d WarHER B TFR
(§) GeH oHadl

(8) gfdaan amm|
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Your Roll No...............
Sr. No. of Question Paper : 3081 GC-4
JUnique Paper Code . 22413405
Name of the Paper . Entrepreneurship
Name of the Course : B.Com. (H) : SEC
Semester IV
4Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top i'mmediately on receipt of
this question paper.
2. Attempt all questions. All questions carry equal marks.
3. All questions from each section should be attempted together
- at one place.
4. Answers may be written either in English or in Hindi; but
the same medium should be used throughout the paper.
B @ for e
L 30 WE-9 w e 8 S R e MuiRe e W s s
fofiaw |
2. |ty Fifow | |l v S s e R
‘rs. TS W & M Sl Uk B ¥4 W U a1y i |
4.  TE UST-UF H IR N a1 B 5 v wwr F Sfvw. SfFT o=

ﬁﬁﬂwwéﬁmmﬁvl PTO.
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(a) What is Entrepreneurship ? What are the qualities that

make an entrepreneur ? (7.3)

(b) Distinguish between creativity and innovation. What is

the role of innovation in entrepreneurship ? (7.5)
OR

(a) Who is an Intrapreneur ? How is he different from an

entrepreneur ? (7.5}%

(b) What are the motives for becoming an entrepreneur ?
How are entrepreneurs important in solving society’s
problem ? (7.5)

(=) ermieran =1 B4t @ 7 S W @ forg fae o o S
B §, =aEy |

(@) e R AAeTE ¥ S qEEY | ITHe A AaAes
it o s B B 7

S=qdar

(F) TTA=R @ B 27 TE TR © fHE weEr e
27

(@) I o B JfeRe Fm € 7 TR e wER s @
JHE B FA N AEwaqUl Bien 7

i 3 3081

3

(a) Define Micro, Small Medium Enterprises and describe

their characteristics. : (7.5)

(b) What are the characteristics of family business. Discuss

the contribution of family business in an economy.
(7.5)
OR

(a) What are the causes for conflict in family business ?

What steps can be taken to resolve these problems ?
3 (7.5)
(b) Name one role model in Indian Business and

discuss the reasons for his/her becoming a great

entrepreneur. (7.5)

() ¥, 9 3R Aoz I < R e 3R T e
U HIT |

(@) uRaRe =@em =t s f@wa ot 2 7 sfegaen &
WIRAfE =EEE & AneE St fREer iR |

Jrerar
(%) wRaRer ==wm § €2 & 71 S/0 8 2 7 37 wwesh @

Fuwwr & e = wew Isw o gEmy 27

P.T.O.
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(@) ¥R wEEE ¥ T e A AN q6EY SR I8 a2
IR g & ERO & faEeEr i

What is the need for providing institutional support to new
projects 2 Which are the various institutions that provide

help in this :wwm:d ? (15)

OR
Write notes on : (any two) Q.mh.ww
(1) Business incubators

(1) Angel Investors

(iii) Venture Capital

3

TE URAISEISN @ G gAAT YerT e ol &l dEsadar § 7

m?ﬂ%qEWHqﬁﬁaﬁwﬂqﬂ«ﬂﬂywuﬁmmmﬂaﬁqu
Jrrdn

frafiae @ @ feedl @1 w ool fofag

(i) =mam - Ig¥Es

(ii) Vo FreEs

(iii) R o

P —

3081

4.

thn

Explain the guidclines that should be followed while
preparing a business plan. Describe in brief the contents of

a business plan. (15)
OR

What 1s a business idea ? Describe in brief the sources of

business ideas. (15)

TEAET AT AR FRY §G AT ST
T FIfT | =T T At o v wwe ¥ oo A

FRIEr

TIEE - TuR w1 B 2 7 maE - R # S wr a8y ¥ aoie
TG |

N
n

Write short notes on any three : (

.
tn
pa—

(a) Basic Start-up problems

(b) Social Entrepreneurs

(c) Self - Help groups 4
(d) Ecopreneurship

(e) Types of business resources

Bl B,
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5. No. of Question Faper

Unique Paper Code 32373902 GCH

Name of the Paper Statistical Data Analysis Using R

Name of the Course SEC : Statistics for Honours

Semester S A%

Duration : 2 Hours Maximum Marks : 50

(Write your Roll No. on the top immediately on receipt of ithis question paper.)

3

Attempt six questions in all.
Section A is compulsory.
Attempt four more questions, selecting rwo
questions from each of Section B and c:
Write R codes for each question given in Section B and C.
Section A
L Answer thé following :

(0 What is the output of the following R-comma nd

~pnorm(1.96) 2

2T,



(i)

(/i)

(v)

")

(a)

Suppose traffic accidents occur at an intersection With |
L4 ~.,

average rate of 2.9 accidents per vear. Assuming » .
- = o

model. write down the R-command SYRLax to compya th
) L&

probability of at most seven accidents in a vear,

What are the default mean and standard deviation values |

used in R during generation of pseudorandom Nijmbers

from normal distribution ?

What is the difference between the following rwo functior

definitions :

mySEQ < — function(n, a, b) seq(a, b, length = n) "

mySEQ < — function(n=10,a=0,b=1 )seg(a, b, length=n)?

How does one carryout a Continuity Correction while using

correlation commands in' R ? 5x1

Write the output of the following R codes
>X=cla=8,b=4,15); hz....:g‘v

-

> ¥ = seq(l, 10, length = 3); prin(Y).

(h)

(©

()

Consider the following set of R-commands sterwise

>V =¢4,.5.8,7)
> length(X) = length(Y)
= o

Write down the elements of the vector X' generated by

the execution of.this set of R-commands.

Explain the oE_E: of the following R-code segment :
rm(list = Is( )

F<-numerie(10)

F[ :n-_u.EA- I

for(i in 3 : 10) F[i] <-F[i-1] + F[i-2]

print(i); print(F) '

What is the significance of having a plotting feat ure/

argument main ?

PT.O.
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(&)

(a)

(5)

(©)

(@)

(%)

‘user-defined names.

If x is a vector of length n. write commangds 4,
Y L

v

compute

o

I 2

i M ﬁ‘f.__u C NX
n

Section B

Explain the functions scan( ) and structure( “,w..f; e

examples.

Distinguish between a Character object and a Factor

object in R with example. ] B

[ -

i "
Write down the R-command to save and load the

R-workspace as well as the commands history with

342425

Draw a random sample of size 25 from the population of

size 150. Display unit number along the sampling unit.

4 Jr
Given the frequency distribution X|f,, draw the ‘less than

. . +3.5
cumulative curve. 4

g

L 3 2931
(@) Explain any four features/arguments of plot( ) command
(h) Create data tframe with name “dd 1" using the following
< —e2], .mﬁ,mu.m. 26.5.18.7. 20, 19.3,20.6, 19, 20.8)
y<=e(l0. 14, 16, 20, 12, 15, 11.6. 14, 11. 12)
< ﬂm 1,27,29.8,36.5, 28.7, 30,26 3. 32,6, 29,28.8).

Compute correlation 'coefficients and use the scatter

diagrams with the window being divided into three

tn

parts. 443,
Section C

Give the given vectors x,

c - . . 2
(7) Fit the regression line Y =a+ by + ex’

v

(i) Estimate y for any given value of x.

(¢/f)  Create the data frame to store. x, v fitted, residual,

(i) Graphically compare original curve with fitted one. 10

P T.O.



Aocertam stumulus s adininistrated o cach of the |2 patieniy
to observe its effect on blood pressure. The following resuli

of stimulus in blood pressure were observed in patjents -
hef_sti = (65, 68. 56, 59, 60, 62. 60, 58. 70, 66, 62. 60) -
afi_sii = (69, 67, .@o, 63, 65, 62. 68. 65, 72. 64, 69, 66)
Consider the output below
1==3.8672. df = |1, p-value = 0.002621
altemative hyvpothesis : true ditference in means is not equal to 0
95 percent confidence interval :

—5.753532 -1.57980] :

sample estimates :

mean of the differences

—3.660667

.
T pp—
—

-

From the output given above. can i1 be concluded that sunlus,

in general. be accompanied by an increase in blood pressure

Interpret the results of analysis. 10
8  Fit a binomial distribution to the given data X G = 1,
R s . 6). Plot histogram for observed data along with the
superimposed frequency curve, 10

L4
2931 . 7 200



